Eggﬁ:;ﬂﬁ R i Q002
THAE
;@gg@g ........................................................ Q003
BRAERE R Q009
TIE e Q010
TIR I R T EATHFF e Qo013
GG e Qo014
JEER e Q014
BB BT cvevrrrereer e Q016
B L JERIR TR «evveeeeeeeeeeee e Qo017
ZrmEnE
ZE J] ceveeee e Qo018
FEAN /B AN I ceeveeeeeeeeeeeee e Q023
E TR - Q024
FEEREE TISL v Q027
EEE T Q028
P T rrererreereerrm Q034
BRSLIZERT] covvvererrrmmmmres s, Q039




FH

EREFHE BS

W BigsTRE
(A HIFRF A ELELr)
H SC 060 05 O, AFLR
() BE | por | BRT (EAREER)
; ®E] L #% | ™% |HBH | HFC | HSC | HSC
05 | 5 M2 |04 | — | — | 15 | 09
10 | 10 M25 | 045 | — | — | 2 | 13
20 | 20 M3 | 05 |2 |2 | 25 15
30 | 30 M4 | 07 | 25 | 25 | 3 | 2
M5 | 08 |3 |3 | 4 | 25
(f1) M6 | 1 4 | 4 |5 |3
mr— = | d
—{EE— M8 | 1255 |5 |6 | 4
gl M5 M0 | 15 |6 |6 |8 |5
060 | M6 :
BH AL o =
BHA ST AA AL T
FC LA A ) —J=
]
3
sc Bk )
| [ on | 3
SERRER PM B s/ 24T N ©
we] ® # —
Em | sk s
; P} | PG
[sD | Jis E{iﬂ%ﬂ o
r=] ® % L==1 Y (El#) L
. P we | &
e EAriE4T ol
re] ® ® SR (EHE#) =
c @ 55 AR <
LSS | (Ei) T
BiEFHRE
g
HKY| |15 B mRELE I
L
REIRE TORXIRE TORXPLUSIRF L | kT
=] B ®E] B [RERT RE[HFRT
15[1.5 06 [1.7] T6 06| 6P| ||7|rmss %
20 |2 08 |23 T8 @ 07| 71
25|25 10 [2.7] T10 08| 8P A
= 30 (3 15 |3.3| T15 15| 15IP | [ F |wmEsrs
RE | HEER FS I
& = 35|35 = 20 |3.8| T20
HKY| #&#RF — [a0]a 25 [4.4] T25
: —w| 5 | o )=
TKY | TordfF 50 |5 27 |5.0| T27
TIP | Torx plustiF 60 6 30 [5.5|] T30 D
—os 1842 7]
l
AT WR
=] B
= 10| 10 @%
RE | HEER 5t
16 | 16
IMX [IMXZ 7= @ik F 20 | 20
B 25 | 25




=HFiE

FEBETHIE

- o R (mm) RE iR F |14

Wtk e . - T3 T o T |Rt|tm xR T4
AJS3010T10| 5 [M3x0.5[10 | 1.5 | 2.8 [120]T10]2.5 |##%7(©C030) AIX(©M162) PMC(OM254)
AJS4012T15| 7 |M4x0.7/12 | 2.2 | 3.4 [120/T15|3.5|AIxX(©M162) PMC(©OM254)

3 ~| HT—1 = AJS5014T25| 8 |M5x0.8/14 | 2.7 | 4.5 |120|T25|7.5
e d c

BRS103 5 |M3x0.5] 9.9] 2.9 | 3.4 [120]T153.5

] BRS105 8 M5x0.8/ 13.8 | 3.8 | 4.5 |120|T25|7.5
o= I .Ql
o . LA
[

CS3(C31247) 7 M4x0.7/14.6| 2.6 | 2.5 | — | — | 2.2 | FRUSETIHF(DE026)
@ © fj D I _Q] CS4(C4124T) 9 M5x0.8/15.4| 3.4 | 3 — | — |33
—1 | CS5(C5%24T) | 10.5 | M6x1 |22 4 4 — | —|7.0
e d
£ HEA24T 5 EAR A —2H.
T CAS51T 7.9 |M5x0.8| 19 5 4.5 | 10|T25/8.5
@ &E --;l: I- I -n[
e d
= bR [
CS200T 3.2 |M2x0.4| 5 16 | 1.8 | 90|T6 |0.6|FR$=TI+F(OE025)
CS250T 3.7 |M25x045| 6 1.8 | 2.4 | 90|T8 |1.0|FEBETIZZI(@©MO001)
% CS250560T 3.9 |M25x045| 5.2| 2.5 | 2.4 | 60|T8 |1.0|BRP(@M196)
% CS300590T 41 |M3x0.5| 55| 21| 24 | 90|T8 |1.0
CS300790TS| 4.7 |M3x0.5| 7 2.3 | 2.8 | 90|T10/2.0
® Tl @ CS300890T 4.1 |[M3x0.5| 8 21 | 24 | 90/T8 |1.0[#E=ET1L(@ON012) DCCC(OM212)
*ﬁ % CS350760T 5.5 [M3.5x0.6| 7 4 3.4 | 60/T15/3.5
c CS350790T 4.8 |M3.5x0.6| 7 2.4 | 2.8 | 90(T10{2.5|V10000(®M070)
% CS350860T 5.5 |M35x0.6| 8.4 4 3.4 | 60(T15|3.5 | MMTI& $Z T14F(©G028) BRP(©M196)
CS350990T 4.8 |M3.5x0.6| 9 24 | 2.8 | 90/T10/2.5|0OCTACUT(®M180) DCCC(©M212)

CS400990T 6.0 |M4x0.7| 9 2.8 | 3.4 | 90|T15/3.5
CS401160T 5.7 |M4x0.7| 11 45| 3.4 | 60/T15/3.5
CS401990T 6.0 [M4x0.7/19 3.0 | 3.9 | 90|T20|3.5|MIA%ETI(@C032)
< CS451190T 6.3 [M4.5x0.75) 11 2.9 | 3.9 | 90|T20|5.0
% CS501160T 7.0 |[M5x0.8] 11 3.6 | 3.9 | 60(T20/5.0
c CS501290T 7.0 |M5x0.8| 11 3.5 | 45 | 90|/T25|7.5|0OCTACUT(©M180)
% CS5015060T | 7.2 |M5x0.8| 15 2.4 | 3.9 | 60|T20|5.0 [ AHX640S(DM046)
CS502190T 8.5 |M5x0.8| 21 40| 51| 90|T27|7.5
CS6016060T [ 8.5 |M6%1.0{16 | 4.5 | 4.5 | 60|T25/7.5
CSF401260T 7.2 |[M4x0.5/12 5.2 | 3.9 | 60(T20|5.0|PMR(@©M258)
.
[+
DC0520T 8.5 |M5x0.8/22.5| 2.5 | 3.4 | — |T15/3.5 | MEXREXZEJI(@C008)
DC0621T 10.5 |M6x1.0| 25 4 3.9 | — [T20|5.0 | WEXEXHERETIH(OE013)
HSKJIE(@H001) =z
DKS4 5.6 |M4x0.7|18 35| 3 — | — |33
DKS5 7.6 |[M5x0.8/19 45 | 4 — | —|7.0

Q003



FEIBFTHHE
- - R (mm) RE |5 45
2N we a T T a o |g |Rt|tem 42 T8
EGS06019 9 M6x1 |225| 3.5 | 3 — | — |33
EGS08024 11 M8x1.25/28.5| 4.5 | 4 — | = |7.0
N 72
d|
[
FC400890T 5.6 |M4x0.7| 75| 1.3 | 2.8 |90 [T10|2.5| AT AZ%EJ1(©C033)
i $BINT FE TIHH©E043)
& | % i < SMGZ J1(©F118,G026)

GY05016S 8.7 |M5x0.8/16 | 3.5 | 3.9 [ 90 |T20|5.0 |GYZZI(OF004)

8°

GY06013M | 12 M6x%1.0/18 | 5 5.6 | — |T30/6.0|GYZRZI(DF004)

HFF06015 | 10 M6x1 |15 | 6 5 80| — |82

®:0 ® @ e 0@ ®® :

HS4L 5.4 |M4x0.7|14 2325|180 — (3.8
HS5S 6.8 |M5x0.8| 9 28 | 3 80| — |3.3
HS5L 6.8 |M5x0.8/15 28 |3 80| — |6.6
HSP05008C [M5x0.8] 8 — — | 25 | — | — |2.5|DEISETIL(OEN42)
Y MPE % 7](©C018)
< i 80°
b
HY-A1 44 |M3x0.5| 7 21| 2 82 | — |1.5|HEE#ETI%L(©ONO12)
HY-V1 5.5 |M3x0.5| 7 25 |2 82| — |15
i < |HY2 5.5 |M3x0.5/10 25| 2 82| — |15
HY3 7 M3.5x0.6| 12 29 | 2 82| — |15
c HY4 9.3 |M5x0.8|16 36 |3 82| — |3.3
= JSS6 6.9 |M6x0.75( 45,15 |08 | — | — | —
o St o JSS7 8  IM7x0.75 44|15 |1 |—|— |-
S
c
— KS1 7 M4x07]14 | 5 | — | — | — | — |BC/I%ISOE(©N008)
o fodi——0 _ | = | | _ |LL7iskiso®(@©No06)
= =] e O et b e MIZIZ 7(ON015)
g y - D T LT T | T | ss713ISOR(©N010)
* . KS1S 7 MAx0.7114 15 = | = | = | = |y10000(©M070)
KS2S 10 M6x1 |18 7 - | == -
KS11 8 M5x0.8| 19 3 3 = =33
KS12 10 M6x1 | 26 4 4 — | =70
KS13 10 M6x1 | 30 4 4 — | —|7.0
KS14 13 M8x1.25| 45 5 5 — | —19.0
i LLR1 M5x0.8| — 35| — | 25| — | — | — [LL7I%ISOR(ONO06)
o LLR2 Mex1| — |5 | — |3 |— | —|—
-€_| [

Q004



‘ - Rt (mm) RaE
ok ne P R i P [ oA xR
%LLCS103 [M3x0.5] 4 |11 | 46]2 | — | — |1.5|LLEZ(©C008)
%LLCS105 |M5x0.8M5x0.8/10 | 15|2 | — | — |1.5|PR&I#(©E035)
LLCS106 [ M6x1| 6 [16.5| 35|25 | — | — |2.2| DR TIL(OE040)
o MR | |xLLCS106S| M6x1 | 6 [13.4| 07|25 | — | — |2.2[HSKTIA(@H001)
LLCS108 |M8x125 8 |21 | 653 | — | — |3.3|KSMG@©M252)
e d_| XLLCS108S|M8x1.25 8 (165 2 |3 | — | — |3.3|®m=mns@©No12)
c LLCS110 |M10x15 10 (29 | 8 |4 | —|— |7.0|LL7Isiso®(@©NO06)
LLCS112 [M12x1| 119 [362| 9 |5 |—|— |80
S EMT . LLCS125 |[M5x0.8M5%x0.8/12 | 2 |2 |—|— |15
LLCS205 |[M5x0.8)M5x0.8/16 | 4 |2 |—|— |15
R d LLCS206 | M6x1| 6 |26 |13 |25 | —|— |22
T . LLCS208 [Msx125] 8 |24 | 65/3 |—|— |33
LLCS103, LLCS105 LLCS306 | M6x1 6 21 4 |25 | —|—1|22
LLCS112, LLCS125 LLCS308 |Msx125] 8 |42 [275/3 |—|— |33
B L LLCS310 [M10x1| 10 |29 | 8 |4 |—|—|70
e TR LLCS410 [M10x1| 10 30 | 66|4 — | =170
KRR TR AR LLCS508 | M8x1| 8 (24 | 65|3 |—|— 33
%LLCS508S| M8x1 | 8 205/ 3 |3 |—|— 33
LS1 M6x1 | 22 8 |8 |3 |—|—150
LS2 M8x1| 29 |13 [10 |4 |—|— |82
LS3 M8x1| 32 (13 (13 |4 | —|— |82
LS4 M6x1 | 15 8 | 4 |3 |—|— |50|FESNIREIOM001)
LS5 M6x1 | 18 8 |5 |3 |—|—150
%LS6 M8x1| 24 |13 | 5 |4 |—|— |82
%LS7 M8x1| 27 (13 | 8 |4 |—|— |82
& w [xLS8 M6x0.75| 18 7 |7 |3 |=|=150
2 B |xLso M6x0.75 22 | 8 | 8 |3 |—|—|50
= T %LS10 M7x0.75/ 16 6 | 6 |4 |—|— |7.8|FE404(©M266)
° Bt [ xLs11 M8x1 | 16 6 |6 |4 |—|—178
. A P %LS12 M8x1 | 24 7 17 |4 |—-|-178
b %LS13 M8x1 | 34 (12 |12 |4 |—|—|78
%LS14 M7x0.75 24 |10 |10 |4 | — | — |7.8|FP490(©M262) FP590(©M264)
KETEBL TN AR %LS15 M7x0.75/ 18 6 |8 |4 |—|—178
%LS16 M7x0.75| 23 |11 | 8 |4 |[—|— |78
%LS17 M8x1 | 42 (17 |11 |4 | —|—|78
%LS18 M7x0.75| 14 6 |4 |4 |—|—178
%LS20 M10x1.5| 26 9 |9 |5 |—|—190
%LS21 M10x15] 32 |12 |12 |5 |[—|—= 9.0
LS24 M8x1.25 24 85| 854 |—|—178
LS25 M8x1.0| 285 [12.0/105|4 |— | — |7.8|EyEAREEEREN©CI14)
LS10T M7x0.75| 14 6 5 | 4.5 | — |T25/8.0|NF10000 (DM072)
. B . LS14T M7x0.75| 24 |10 |10 |45 | — [T25/8.0
= | | LS15T M7x0.75 18 7 7 |45 | — |T25/8.0 | AOX445@M060) SE515(OM062) SG20(OM064)
el § | ¢ d | § | LstoT  |vexo7s| 11 | 4 | 4 |34 |- |T15/5.0
iy b @ | LS10TS |M7x0.75) 13 6 | 4 |45 | — |T25/85
LS0622T ([M6x0.75| 22 8 8 | 3.4 | — |T15/6.0| AHX640W (©M054) E
T LS24H  |Mm8x1.25] 24 85| 85|4 | —|— |82
© ] i ©
e = [ d &
B b B
N o
MGS6 10 M6x1 |26 | 4 |5 |—|—]90
. - |n]
| |
€| -9 c
T = 'j MHTA1 11 M8x1 [18.5| 35| 4 8.7
! I—
. E

Q005



FH

=HFiE

T EIRETIE
- o R (mm) RE 5| 155
% RS a o . . o [ |R+|(vm Xt Rz TI48
3.6 |M25x045| 7 — |22 | 60| — | 0.7|/M¥TIR(DDO0O01)
5.8 |M4x0.7| 6 — | 36| 60| — | 3.5
ES
el
NS402W 5.85 |M4x0.7/10 — |22 | 60| — | 0.7|/METIR(ODO0O01)
NS403W 5.85 |M4x0.7|12 — | 22| 60| —| 0.7
NS404W 5.8 |M4x0.7/10 — 12290 — | 0.7
NS501W 8 M5x0.8| 16 — | 2.5 [120] — | 2.2|/ME¥TIE(©DO0O01)
NS502W 8 M5x0.8| 20 — | 25 |120| — | 2.2
RN-S4S 58 |M4x0.5 84|25 |34 | 61/T15| 3.5
RN-S4M 5.8 |M4x0.5/10 2.2 | 3.4 | 61/T15 3.5
RN-S4 5.8 |M4x0.5/125(22 | 34 | 61/T15| 3.5
RN-S5 8.1 |M5x0.5/154 (3.6 | 3.9 | 61/T20| 5.0
RN-S6 9.5 |M6%0.75/20.3 4.6 | 3.9 | 61/T20| 5.0
RN-S7 11 M7x0.75/24.7 | 5.2 | 4.5 | 61|T25| 7.5
RS3008T 4.3 |M3x0.35| 8.6 |2 2.4 | 61|T8 | 1.5|SRF£%(©M228) SUFZ%I(@M232)
RS3510T 5 M3.5x0.35 10 2.3 | 2.8 | 61/T10| 2.5
RS4015T 6 M4x0.5| 14 2.7 | 3.4 | 61/T15/ 3.3
RS5020T 8.1 |M5x0.5/16.4 | 3.6 | 3.9 | 61|T20| 5.0
RS6025T 9.5 |M6x0.75/21.5 4.2 | 45 | 61|T25 7.5
RS8030T 12 M8x0.75| 25 5 5.6 | 61/T30/10.0
S1 3.5 |M2x0.4| 55(22 |15 | 92| — | 1.0|HE=#&TIL(@N012)
S3 45 |M3x0.5| 7.7|24 | 2 92| — | 1.5
S4 5.3 |M4x0.7| 8 181 25| 62 — | 22
S5 6.8 |M5x0.8| 9 24 | 3 62| — | 3.3
SD32 12 M8x1.25| 28 72| 6 50| — | 9.5(DELEATIFFOEN42)
SD40 12 M8x1.25| 36 72| 6 50 — | 9.5
SD50 16 M10x1.5| 46 828 50 — | 1.0
SD63 16 M10x1.5| 61 82 |8 50 — | 1.0
SETS51 6.8 |M5x0.8/14.8 | 1.5 | 3.4 | — |T15| 3.5|HSKTIE(®H016)
SETS61 8 M6x1 | 20 1.8 | 3.9 | — [T20| 5.0| MMTE& % J1(©G019)
MMTIZ $2 TI4F(©G028)
SLCS105 10 M5x0.8|25 6.3 |4 90| — | 7.0
SLCS106 12 M6x1 |32 6.2 | 4 90| — | 7.0 WPREIZE J1(©C017)
SPS1 8.5 |M5x0.8/16 4 45 | 70|T25| 5.0
SRS5 6.7 |M5x0.8/16 35|39 | — |T20| 5.0
STS1 6.8 |M3x0.5| 7 2.2 | 2.8 | 90|T10| 2.5
o © .Ql

Q006



Rt (mm) aE
Rk ne . e R = o Rz TIAE
% TS16 2.5 |[M1.6x0.35 3.2 1.6 |1.8 |60 |T6 | 0.6|/MEATANETIH(OE016)
TS2 27 |M2x0.4| 46 (1.4 |18 |60 |T6 | 0.6|HE=EETIL(@ON012) TAFE:L(©P241)
¥ TS2A 2.7 |M2x0.4| 45|12 |1.8 |60 |T6 | 0.6|AQX(@M154)
TS2C 2.7 |M2x0.4| 3.8(14 (1.8 [60|T6 | 0.6
Y TS2D 3.8 |M2x0.4| 53|19 (1.8 [82|T6 | 0.6|FERETIH(OE006)
TS21 27 |M2x0.4| 3.4 (1.4 |18 |60 |T6 | 0.6|F&EII+(OE027)
% TS22 3.0 |M2.2x045| 5 1.2 |1.8 |60 |T6 | 0.6]|SEsE T+ (OE028)
% TS25 3.3 |M25x045| 5.5 1.7 [2.4 |60 |T8 | 1.0|AQX(@M154) AIX(©M162) TAFsE(@P241)
Y TS25D 4.4 |M25x045| 6.2 2.2 | 2.4 |82 T8 | 1.0|FEE#ETIHF(OE006)
% TS25H 3.6 |M2.5x045| 5.5 |2 2.4 |60 (T8 | 1.0| SRM2(®M236)
TS202 2.7 |M2x0.4| 55|18 |1.8 |60|T6 | 0.6
TS253 3.3 |M25x045| 4.5[1.7 |24 [60|T8 | 1.0|FEBETIRI(@M001)
TS254 3.3 |M25x045| 7 1.7 |24 |[60|T8 | 1.0/ /& JIA(@D001) PMF(©M256)
% TS255 3.5 |M25x045| 7.5 1.6 |24 [60|T8 | 1.0|1ARETI(@C030)
i TS3 3.9 |M3x0.5| 6 2 2.4 |60 (T8 | 1.0|TSMP(©M248) CBJP(©M250) TAFsL(©P241)
o © _ e TS3D 5.0 |[M3x0.5| 6 |23 (2.8 [82|T10| 2.5|EER#ETIH(SE006)
. a % TS3SB 44 |M3x0.5| 8 |2 2.4 |80 |T8 | 1.5|AXD4000(©M134)
- c TS3SBS | 4.4 |M3x0.5 6.5|2.0 |24 [80|T8 | 1.5|AXD4000(©M134)
Y TS31D 4.8 |M3x0.5| 7.2 (2.2 |2.8 |82 |T10| 2.5|FEE#TIHF(©E007)
% TS32 3.9 |M3x0.5| 752 24 [60|T8 | 2.0| SRM2(©M236)
¥ TS33 3.9 |M3x0.5| 6.7 |2 2.4 |60 |T8 | 1.5|AQX(©OM154) AJX(@OM162) PMC(©M254)
TS35 4.8 |M35x06| 6.5|24 [2.8 |60 |T10 2.5
% TS35D 5.3 |M35x06|12 |2.8 |3.4 |60 T15 3.5(HSKITIE(DHO013)
X TS35R 5.7 |M35x06(10 |2.1 [3.4 | — |T15| 3.5|AHX440S(@M038) AHX475S5(@M043)
o/ 2 R TS351 4.8 |M35x06| 7.2|2.4 |2.8 [60|T10| 2.5(AIX(@©OM162) SRM2(©M236) PMC(©M254)
4| TS352 4.8 |M35x06/10 |3 2.8 |60 |T10| 2.5(VFX5(@©M220)
o < d TS4S 54 |M4x0.7| 7 24 3.4 |80|T15 3.5
- e % TS4SL 54 |M4x0.7| 8 |24 [3.4 |80 |T15 4.0|BXD4000(@M150)
% TS4SB 5.8 |M4x0.7| 9 |27 [3.4 [80|T15/ 3.5|AXD7000(@M142)
% % TS4SBL 5.8 |M4x0.7(10.5 | 2.7 |3.4 |80 |T15| 3.5|GY%ZFI(DF001) AXD7000(©M142)
TS4 54 |M4x0.7| 8 2.6 | 3.4 |60 |T15| 3.5(SS7ISOH(ON10) CEICFICGSP(OM246) TSMP(OM248)
TS4D 5.6 |M4x0.7| 7.7 | 2.5 |3.4 |82 |T15| 3.5|FEER#ETIH(OE006)
TS42 54 |M4x0.7| 6 |26 |34 [60|T15 3.5
e TS43 54 |M4x0.7/10 2.6 | 3.4 |60 |T15| 3.5[ANX@M162) BRP@M196) PMC(OM254) SRM2(OM236)
c TS44 54 |M4x0.7/12 2.6 |3.4 |60|T15 3.5
TS406 5.4 |M4x0.7/15.5|2.6 |3.4 [60|T15 3.5
TS407 54 |M4x0.7| 9 |26 |3.4 [60|T15 3.5|AQX(@M154) AIX(@M162)
TS450 5.9 |M45x0.75(13 | 3.6 [3.9 |60 |T20| 5.0| VFX6(@M224)
TS5S 6.8 |[M5x0.8/ 9 |29 |45 [(80|T25 7.5
% TS5SL 6.8 |M5x0.8/12 |29 |45 (80 |T25 7.5
TS5 6.8 |M5x0.8| 9 3.2 |4.5 |60 |T25| 7.5(SPET(OC022) CEICFICGSP(OM246) TSMP(©M248)
TS5L 6.8 |M5x0.8/15 |29 |45 [80|T25 7.5
TS5R 6.9 |M5x0.8/12 |3.5 (3.9 [60|T20| 5.0|WJX(@M172)
TS52 6.8 |M5x0.8 8 |3.2 (4.5 |60 |T25| 7.5|CESP/CFSP/CGSP(©M246)
TS53 6.8 |M5x0.8/16 [3.2 |45 [60|T25/ 7.5
TS54 6.8 |M5x0.8/12 |3.2 (4.5 |60 |T25 7.5|AJX(@M162) .
TS55 6.8 |M5x0.8/10.5| 3.2 | 4.5 |60 |T25| 7.5|GYZIQF001) AQX(©M54) SPX(OM215) SRM2OM236)
% TS6S 8.5 |M6x1.0(13 |4.4 |5.6 |60 |T30[10.0|AQX(@©M154) SRM2(DM244)
% TS6 8.5 |M6x1.0(16 |4.4 |5.6 |60 |T30[10.0|SRM2(®M244)

Q007



Q008

FH

=HFiE

K EETHI
Rt (mm) aE
oAk me : T Ta T o e BT e 4 Rz T
TPS20 2.7 |M2x0.4| 35(1.3 [1.8 | 60| 6IP| 0.5|ARX(®M192)
TPS22 3.0 |M22x045| 4.7 |1.6 |2.1 |60 | 7IP| 0.5|ARX(®©M192)
TPS22S 3.0 |M22x045| 4.2|1.6 |2.1 |60 | 7IP| 0.5|ARX(®@M192)
TPS25 3.3 |M25x045| 5.5|1.7 |2.1 |60 | 7IP| 1.0]APX3000(®M096) MVS(®P022)
TPS25-1 3.3 |M25x045| 6.5(1.7 |2.1 |60 | 7IP| 1.0/ APX3000(®M096)
TPS27F1 3.7 |M27x0.35| 6.5(1.8 |2.1 |60 | 7IP| 1.0]VPX200(®M110)
TPS27F2 3.7 |M27x0.35| 8.0(1.8 |2.1 |60 | 7IP| 1.0]VPX200(@M110)
o TPS3 3.9 |M3x0.5| 6.7 |1.4 |2.82| 60 [10IP| 1.0|MVX(®P231)
TPS35 5.3 |M3.5%x0.6/11.5|2.8 |3.4 |60 |15IP| 3.5[ASX445@M030) ASX400(DM080) PMR(OM258)
e TPS351 4.8 |M35x0.6| 7.2|1.4 |2.82]|60 |10IP| 2.5 MVX(®©P231)
TPS351B 5.1 |M3.5x0.6| 7.2 1.4 |2.82|60 [10IP| 2.5 ARP(@©M186)
TPS4 53 |M4x0.7| 8 (2.6 |3.4 |60 |15IP| 3.5|APX4000(©M102) ARP(OM186) MVX(©P232)
TPS40F1 5.3 |M4x0.5/10.5 (2.8 |3.4 | 60 [15IP| 3.0|VPX300(®M122)
TPS43 5.3 |M4x0.7|10 |2.6 |3.4 |60 [15IP| 4.0/ APX4000(®M102) MVX(®P233)
TPS4R 6.4 |M4x0.7/10.6 2.9 | 3.4 |60 [15IP| 3.5|WSX445(@M018)
TPS54 6.8 |M5x0.8/12 |3.2 (4.5 |60 25IP| 7.5[MVX(®P234)
TSR05008S | 3.5 |M5x0.8| 8 — (28 | — |T10| —
TSR06011S | 4 M6x1.0{ 11 — |39 | — [T20| —
TSS04005 —  |M4x0.7| 5 — |24 | — |T8 | — |PMF(©M256)
TSS04505S —  |M45x0.7| 5 — |3.5 | — |T10| 3.5|FMAX(©MO066)
TSS05006 — |M5x0.8| 6 — 2.8 | — |T10| — |BC7I5ISOZ(©N008)
TSS06010 - M6x1 |10 — [3.9 | — [T20| — |SS7I3kISOZI(ON010)
WCS503507H| 6.3 |M5x0.5 7 3.3 [3.5 | — | — | 5.0|ASX445@M030) ASX400(©M080) PMR(OM258)
WCS604010H| 7.8 |M6%0.75/10 |4.1 |4.0 | — | — | 7.0[PMR(®M258)
WS1 8.5 |M5x0.8/19 |5 45 | — |T25| 7.5
WS254012T | 4 M2.5x045|11.5 2.2 | 2.4 [ 80 |T8 | 2.0| TAW%EL(©P219)
WS254013T| 4 M2.5x0.45|12.5 12.2 | 2.4 |80 (T8 | 2.0
WS254014T| 4 M2.5x0.45/13.5 2.2 |2.4 (80 (T8 | 2.0
WS254015T | 4 M2.5x0.45|14.5 |12.2 |2.4 | 80 (T8 | 2.0
- WS254016T| 4 M2.5x0.45/ 15.5 2.2 |24 (80 (T8 | 2.0
© :‘| BR = _QI WS304517T| 4.5 |M3x0.5/16.5|3.4 |2.8 [60|T10| 3.5
7%[ WS304518T| 4.5 |M3x0.5/17.5|3.4 |2.8 |60|T10| 3.5
~— WS355520T| 5.5 |M3.5x0.6/19.5|3.9 |3.4 |60|T15| 5.5
£ £ WS355521T| 5.5 |M35x0.6/20.5|3.9 |3.4 [60(T15 55
WS406023T| 6 M4x0.7/22.0 |[4.4 |4.5 (60 (T25| 8.5
WS406024T| 6 M4x0.7/23.0 |14.4 |4.5 (60 [T25| 8.5
WS508026T| 8 M5x0.8/25.0 |5.2 | 5.1 |60 (T27|12.0
WS508027T| 8 M5x0.8/26.0 |5.2 | 5.1 |60 (T27|12.0
WS203107TPS | 3.1 [M2x0.25| 7.3 (1.7 [1.8 |60 | 6IP| 1.0 STAW:3L(©P218)
n I WS203108TPS| 3.1 |M2x0.25| 8.3|1.9 |1.8 | 60| 6IP] 1.0
& T 2| WS253909TPS | 3.9 [M25x0.35| 9.5(2.4 (2.4 |60 8P| 2.0
d WS304912TPS | 4.9 |M3x0.35/12 |3.25|2.82| 60 |10IP] 2.5
™ [+




RIEKEE

- - R~f (mm) il AEESET
Ttk S a o . : o [ [R+|Nvm Xt 5z J14R
BOES101 15 |M10x1.5 45 | 10 8 | 60| — [10.0|OCTACUT(®M180)
I i<
[
% HSC08030H| 13 |[M8x1.25| 38 8 5 | — | — | 24| APX3000/4000(©M096, M102)
HSC08040 13 |M8x1.25| 48 | 8 | 6 |—|—| 24 f;;‘::g;%\"w‘l’gj)
HSC08050 | 13 |M8x1.25| 58 | 8 | 6 | — | — | 24| sxp7000©M142)
= XHSC10030H | 16 |M10x1.5| 40 | 10 | 6 | — | — | 40[APX(©M102) AJXOMI62) WSX445(OM018)
M= D — "l HSC10035 16 |M10x15| 45 | 10 | 8 [ — | — | 44|BXD(@M150)
i d | HSC10045 | 16 |M10x15| 55 | 10 | 8 | — | — | 44|VFX5/6(@M220)
c HSC10055 16 |M10x15| 65 | 10 8 | — | — | 44|AHX4755(@M043) AHX640S(©MO046)
HSC12035 18 |M12x1.75 47 | 12 | 10 | — | — | 80| wsSX445(©M018)
% HSC12035H 18 M12x1.75 47 | 12 | 10 | — | — | 80| APX3000/4000(©M096, M102) AJX(OM162)
HSC12045 18 |M12x1.75 57 | 12 | 10 | — | — | 80|wsX445(©M018)
© _.., _Hg_-__ _Ql HSC12070 18 M12x1.75 82 | 12 | 10 [ — | — | 80
d HSC16040 24 |M16%x2| 56 | 16 | 14 | — | — |[150
e ¢ %HSC16040H| 24 |[M16x2| 56 | 16 | 14 [ — | — |150[ APX3000/4000(©M096, M102) AJX(©M162)
HSC16080 24 |M16x2| 96 | 16 | 14 | — | — |150
XARic AT LA L. HSC20040 30 |M20x25| 60 | 20 | 17 | — | — |320
HSC20090 30 |M20x25/110 | 20 | 17 | — | — [320
T HSCX12030H| 24 M12x1.75 37 7 8 | — | — | 40|FMAX(@MO067)
N
{_J D HSCX16035H| 30 |M16x2| 44 | 9 | 12 | — | — 100
] g HSCX16045H| 30 |M16x2| 54 9|12 | — | — [100
& ¢ HSCX20035H| 36 |M20x2.5| 46 11 14 [ — | — 180
HFF08043H 11 | M8x1.25| 43 5 5 |90 | — |8.2|AXD4000(@M134)
— BXD(@M150)
»| o ] <
€ d
— c
‘ MBA16033H| 40 |M16x2| 43 | 10 | 14 | — | — |150 AHX640((2100FFI;(®M046) © )
[ | WSX445(©M018) APX4000(©M102
o {E %:::::: a MBA20040H| 50 |M20x2.5| 54 | 14 | 17 320 AHX475S(OMO043) AHX640S(OMO46)
d MBA24045H 65 M24x3| 59 14 17 | — | — |520 AXD4000(©M134) AXD7000(©M142)
e ¢ AJIX(@©M162) BXD(©M150)
= R (mm) 46
2N BE a - B . 5 p Xt Kz JI4R
& &= HDS08030 ([M8x0.75/M8x1.25/30 | 13.5 | 11.5 | 4 | 8.2 |BRP(©M196)
% % HDS10031 [M10x1.0{M10x1.5| 31 | 14 12 5 | 9.0 | OCTACUT(®©M180) PMF(@M256)
w . } } «
e c d >
b

Q009



TIEME
- R~t (mm)
£ a b c d e f HRLTIHR
CS32 952 | 318 | 08 | 08 | 12 | 1.2
¢ d x| C€S42 1270 | 318 | 0.8 | 08 | 12 | 1.6
/\ Cs43 1270 | 476 | 08 | 08 | 1.2 | 1.6
- - + CS62 19.05 | 318 | 1.2 | 12 | 16 | 1.6
\ ~ X PS31 828 | 238 | 02 | 02 | 06 | 0.6
1 . ¢ ol |l |¥PsS42 1146 | 318 | 02 | 0.2 | 06 | 1.0 [BCIIkISOR(ON008)
% PS62 17.20 | 318 | 03 | 03 | 07 | 07
CT22 635 | 318 | 04 | 08 | 12 | —
¢ CT32 952 | 318 | 04 | 08 | 12 | —
CT33 952 | 476 | 04 | 08 | 12 | —
é§ h _CT42 12.70 | 318 | 04 | 08 | 12 | —
NSZN X PT21 511 | 238 | 02 | 02 | 06 | —
& N, X PT32 828 | 318 | 02 | 02 | 06 | — |FEEIH(OE6)
a b % PT42 10.85 | 318 | 03 | 03 | 07 | —
BPT322 78 | 318 | — - — —
35270/~ -~ DCSVN32| 952 | 318 | 08 | 12 | — — |[mE=EXZE7(©C018)
WE K E R T (OE015)
,)1,
/a | b
° ., A ESS42 1270 | 318 | 0.8 | 08 | 1.2 | 1.6
@«,
e ‘a f
¢ EST32 952 | 318 | 04 | 08 | 12 | —
%\ ) EST43 1270 | 476 | 04 | 08 | 12 | —
O g
o Lal e 5]
LLSCN3T3| 952 | 397 | 04 | 04 | 08 | 0.8 [REXERZE7(OC008)
. LLSCN33 | 952 | 476 | 04 | 04 | 08 | 0.8 |NEFERAEEEIMOL0I)
LLSCN42 | 1270 | 3.18 | 0.8 | 0.8 | 12 | 1.2 [HSKZIA@H001)
}:E LLSCN53 | 1587 | 476 | 12 | 12 | 16 | 16 |Iosiecaiennos)
[ ) LLSCN63 | 1905 | 476 | 12 | 1.2 | 16 | 1.6 |PE#EIIHH(OE05)
% LLSCP42 | 1270 | 318 | 08 | 08 | 1.2 | 1.2 |[RNEXEXBREIF(OE013)
b % LLSCP63 | 19.05 | 4.76 1.2 1.2 1.6 1.6 |HSKJIE(©H001)
PEISE T]4F(DE035)
S LLSDN32| 952 | 318 | 08 | 12 | — — | mEsEZE(©C008)
LLSDN42 | 1270 | 318 | 08 | 12 | — | — |NEXEABEEIROECD)
1 LLSDN43 | 12,70 | 476 | 0.8 | 1.2 | — —  |HSKTIE(©H001)
LLSDN53 | 1587 | 476 | 12 | 16 | — - '5"1%5%%@338%)
ad b, % LLSDP42 | 1270 | 318 | 08 | 12 | — —  |mExEXERENFOE013)
LLSRN103| 83 | 318 | — — — —  [HSKTIE(®H001)
) LLSRN123| 98 | 318 | — - - —  |LmE©Cc024)
}Z{ LLSRN164| 136 | 476 | — - — —
[ LLSRN204 | 17.3 | 476 | — - - -
b LLSRN256 | 220 | 635 | — - - —
" LLSRN326 | 28.0 635 | — — - -
LLSSN32| 952 | 318 | 08 | 0.8 | 1.2 | 1.2 [LLEZ7(©cC012)
. LLSSN33 | 952 | 476 | 0.8 | 0.8 | 1.2 | 1.2 |LLJIXISOR(ONO006)
LLSSN42 | 1270 | 318 | 0.8 | 0.8 | 1.2 | 1.6 |PR#IH(OE035)
° H LLSSN53 | 1587 | 476 | 12 | 12 | 16 | 16
— LLSSN63 | 19.05 | 476 | 1.2 | 12 | 16 | 20
b LLSSN84 | 2540 | 635 | 1.6 | 16 | 24 | 24
% LLSSP42 | 1270 | 318 | 08 | 08 | 1.2 | 1.6

Q010



R=F (mm)

RE
N a b c d e f ST
c x| LLSTE32 | 7.6 31804 | 04 | 04 | — |[WMEXREXENOCO6)
“| LLSTN32 | 952 31804 | 08 | 12 | — |WMEXEXEREIFOE14)
LLSTN33 | 9.52 476|104 | 08 | 12 | — |&ZEILON0)
/ : \ 1 : LLSTN42 | 12.70 318 04 | 08 | 12 | — |D&EIIL(©OE040)
p i \ LLSTN53 | 15.87 476 0.8 12 | 16 | — |LLEZ7®©C008)
d a € b b| |XLLSTP32 | 9.52 3.18 | 0.4 08 | 1.2 — |LL71sEISORI(©NO0B)
%LLSTP42 | 12.70 31804 | 08 | 1.2 | — |PE#I#F(©E03Ss)
c % | LLSWN32 | 9.52 318/ 04 | 08 | 12 | — [mEXREREN©C021)
LLSWN3T3| 9.52 39704 | 08 | 12 | — |WMEXEXMBEEIF(OE015)
] ] LLSWN42 | 12.70 318/ 04 | 08 | 12 | — |LLEZE7®©C008)
y XLLSWP32 | 9.52 318/ 04 | 08 | 12 | —
d | a | ¢© o lb] | %LLSWP42 | 12.70 318 | 0.4 08 | 12 | —
d MHS532R/L| 9.4 157 |45 | 08 | 08 | —
/@ﬁ MHS533RIL| 94 | 157 |45 | 1.2 | 12 | —
N i MHS534R/IL| 9.4 157 |45 | 16 | 16 | —
559 < MHS542R/L| 9.4 157 |65 | 08 | 08 | —
6 MHS543R/L| 9.4 15.7 | 6.5 12 | 12 | —
MHS544R/L| 9.4 15.7 | 6.5 16 | 16 | —
dy ,C MLCP42 | 1258 3.18 ] 1.2 12 | 12 | 1.2 |PREIIF(©E03S)
¢ MLDP42 | 12.56 318 | 1.2 1.2 — — | PRI 147 (©E036)
ad b
c /‘\ d MLSP42 12.63 3.18 | 1.2 1.2 1.2 1.2 |PBISE TIHF(©E035)
e ; f *i
i MLTP32 9.50 318 1.2 12 | 12 | — |PR&IHF(OE03S)
AN 1
a b
d_ © . MSCN63 | 18.8 476 | 1.6 16 | 1.6 | 1.6 |EHAREXRERET(O©C014)
/A ]
\L/ ]
fr a Ne | b
c d B MSSN63 | 18.8 476 1.6 16 | 1.6 | 1.6 |EHAREXRERE(OCO14)
(@) i
N L
e a f | b
« |_CT32T1 9.525 | 15.03 | 318 | — — —
" [%PT32TIR | 828 | 13.34| 318 | — = =
< %PT32T2R | 828 | 1319 | 3.18 | — - -
%PT42TR | 10.85 | 17.20 | 318 | — = =

153

Qo011



Q012

TIEHH
R=F (mm)
#HE
=] a b . ; . . 3t Rz T14
35° o _ PV321 9.52 318 | 04 0.4 — —
PV322 9.52 3.18 | 0.8 0.8 — — |MPEZEJ)(©C019)
i PV323 9.52 3.18 1.2 1.2 - —
/a I b
,C B SPSVN32 806 | 318 | 0.3 | 03 — — |HSKTIA(@H001)
N SPEIZE J](©C028)
d/a ] b
R STASX400N| 11.00 | 3.00 | 0.4 | 04 | 04 | 0.4 [ASX400(©M080)
| a | b
STASX445N | 10.76 3.00 — - — — | Asx445(®M030)
a il
c. ‘ d STBS500N | 12.7 3.18 | 0.8 0.8 0.8 0.8
e a f N b
<~ C — WPSTN33 | 9.3 476 | 0.8 0.4 1.2 —  [wPEIZETI(©C017)
WPSTN43 | 1250 | 476 | 0.8 0.4 1.2 —
N ﬂ]E
NN
d/ a \e | b
c % | XWPSWC43| 1250 | 476 | 04 0.8 1.2 —
WPSWN43 | 1250 | 476 | 04 0.8 1.2 —
/
d a e b| |b




TIEETE (L 35 B & E ALAT J4

ik we R (mm) 4 K1
a b C d e
BCP141 3.0 14 5.6 — - SPEIZET] (©C028)
BCP201 4.3 2 7.4 — — FRI$E T)F(OE026)
BCP202 4.3 2 6.4 — - HSKTIE(©H013)
BCP251 4.8 2.5 7.4 — - BCJI£ISOE(©N008)
c BCP252 4.8 2.5 6.4 — -
BCP301 5.8 3 7.4 — —
BCP401 6.3 4 7.4 — -
— CCP33 6.5 3.66 | M5x0.8 18.5 3 WP Z 7](©C017)
© n[ = CCP34 75 50 |M6x1.0| 185 3
— CCP44 7.5 5.0 M5x0.8 14.2 3
e
d
LLCL12S 2.1 9.3 5.6 - - LLEZ J1(©C008)
LLCL13 3.6 10 12.5 — = LLJ]3&ISOE(©N006)
La_ LLCL13S 3.6 10 7.8 — — D&I$E T]SL(©E040)
‘ ‘ LLCL14 4.7 13.4 13.2 - - HSK7JE(@H001)
LLCL14S 4.7 13.6 12.2 - - KSMG(®M252)

. LLCL15 6.0 19 17 — — FEEE 7] (ON012)
. ° LLCL16 75 20.8 21 — — | PRI TIHF(OE035)
LLCL18 8.6 25.4 25.2 — —

b LLCL23 3.6 12.0 11.5 — -
LLCL23S 3.6 11.6 9.5 — -
LLCL24 4.7 16.2 14.8 — —
LLCL25 6.0 171 17 — —
-4 ) LLCL110 3.0 10.7 11.6 - —
LLCL112 315 13 185 — —

LLCL116 4.5 18.5 18 — -
LLCL120 5.6 20.3 19 = =

LLCL125 6 24 24 — —

. b LLCL132 8 30 27 — -
LLP13 5.55 4.85 5.3 - - LLEZ J1(©C008)
LLP14 7.25 6.55 5.8 — — WEEENXE J1(©C008)
LLP15 8.8 8.05 8.6 — — WEREXFHRETIH(©E013)
LLP16 10.85 9.85 111 — — PEI$E TIHF(QE035)
LLP18 15.35 13.05 12.0 — — DRY5E 7]SL(©E040)

m[ a @ LLP23 5.55 4.85 6.8 — — HSKT7IE(©H001)

LLP24 7.25 6.55 9.1 — - KSMG(@M252)

¢ 715 (ON006)

LLJ]I3kISOR(@NO006)

@ = @ MP6 11.9 | 7.8 | MI10x1| 221 | 15 |BOMMRERERZI(©C014)
o o A o

Q013



Q014

FH

=HFiE

A A
Rt (mm)
g\‘ qp=! }\ Y
ok - a b c d e f U
P11S 6 37 | 4 17 | 111 | — |DEEIILOE042)
Al = P21S 75 49 | 45 | 172 | 115 | — [MPEZEJ(©C018)
© 2 1 17T 1 ©
e
d
f P221US 4 18 211 | 35| 33| 77
= P321US 5.5 18 364 | 50| 33| 75
AR IL | — P322US 5.5 21 364 | 50| 33| 105
e P323US 5.5 24 364 | 50| 33| 135
b P332US | 55 |21 |364| 50| 49| 89
f P323WS 575 | 24 364 | 50| 33/ 129
P333WS 575 | 24 364 | 50| 49| 113
o of i P334WS 575 | 30 364 | 50| 49 |173
kel
e | P433W 775 | 24 503 | 70| 49| 108
b P434W 775 | 30 | 503 70| 49| 168
EHR RS
Rt (mm)
Rtk ne o T Rz T4
a b c d e f
a d AMS3 7 12 3 3.3 - —  [1ARZET71(©C030)
- AMS4 9 | 135 3 38| — | = |Ax©WE)
a AMS5 10 15 35 | 5 - -
[
CA142 8 15 4 7 - -
CA150 9 16 45 | 7 = =
a d CA151 10 17 5 7 - -
CA152 10 19 5 7 = =
CA153 10 24 5 7 - -
2 CA161 13 20 6 8 = =
CA162 13 24 6 8 - -
< CA163 13 27 6 8 = —
CA181 16 30 8 10 - -
CA183 16 37 8 10 = =
a ~d_ CCK13 15 185 | 6 9 - — |WPEZE(©C017)
CCK14 19 22 8 95 | — =
R I
.|
_d_ CCTC1 13 25 7 102 | — -
. |
a <
d @ CK231 M6x1 8 4 75| 45 | 95
M CK232 Méx1 | 8 45 | 8 | 45 | 115
—fiele CK341 M8x1 | 11 55 | 135 | 6 13.5
f Rf | CcK342 M8x1 | 11 6 14 6 16.5
e [




FEHR 45

Rt (mm)
R
N a b c d f AL
a d CKW6 10.9 225 | 92 | 16.8 M8x1 | EVIEIAWEXER % 71(©C014)
DCK2211 11 22 6.57 | 11.1 —  |mEZERXZE0©C008)
DCK2613 13 26.5 | 7.35 | 12.9 — | MEXRREXMEEETIHFOE013)
DCK3113 13 31 |9 145 —  |HSKZIR(@H001)
KGC1 12.0 15.0 |M7x0.75| — —  |ucEETI(©F114)
a
a LK1 8 143 | 45 5.9 —
Qo
MHK5NR/L | 155 235 | 81 | 121 -
b
MTK1R/L 13 175 | 5 12 — |HSK7IE(©H001)
MGE % J1(OF116)
an| N MTRZE71(©G024)
MT1& % J1(©G024)
a
MTK2R/L 18 28 7 14 —
Qo
a
a d SETK51 6.8 145 | 2.9 8 — | MMTERZE71(©G019)
SETK61 89 | 181 | 4.1 8.6 —  |MMTIRZET(©G029)
! HSK7IE(DH001)
P,
[+
a d SRK1R 9.4 21 55 7.5 -
L
)
[
- UCR 12 24 8 7 -
]
a d

Q015



FH

=HFiE

BT S B A A
R=F (mm)
e £ a | b | ¢ | nrneE | sEEE HRIE
CBS3 94 | 80/ 15 9.525 1.5
CBS4 126 | 92| 25 | 1270 35
a | CBS4N |126 | 102 | 25 | 1270 25
CBS4F |126 | 112 | 25 | 1270 1.5
= 2 CBS6 18.9 | 146 | 25 19.05 45
CBS6N |18.9 | 166 | 25 | 19.05 25
CBS6F |18.9 | 176 | 25 | 19.05 1.5
CBS3D 80 | — | 15 9.525 15
o | ] cBS4D (102 | — | 25 | 1270 25
CBS6D |[156 | — | 25 | 19.05 35
[ a
CBT2 533| 14| 15 6.35 15 FRI#E T1#T(OE026)
. {“7 CBT2N 567| 14| 15 6.35 10 |XHEBERZAN, WHELE
_Y-b CBT3 720 14| 25 9.525 3.5 U
CBT3N 787 14| 25 9.525 25
© ' CBT3F 853| 1.4 | 25 9.525 1.5
CBT4 973| 14| 25 | 1270 45
CBT4N |11.07| 14| 25 | 1270 25
CBT4F |11.73| 14| 25 | 1270 15
ok we " R#;mm) . T4 KB4 455 (mm) 34 K T4
CBT3106 | 11.5 | 106 | 2.0 2.5—3.0
CBT3113 | 115 | 113 | 2.0 15—2.0
9B CBT3120 | 115 | 12 | 2.0 0.75—1.25
CBT4108 | 133 | 10.8 | 2.0 3.5—4.0
2 € CBT4128 | 133 | 128 | 20 45—5.0

Q016



e LE SR ia

By L 452 42 1

SNE

B

MK1K

20

MK1KS

O : iTEEER

Qo017



Q018

¥ R F

EFEmEHNNR(ZET])

EGEZET]
EEgEE ﬁ
Bk Rt ST RF
2020K03 EGS06019 HKY30R
2525M3 EGS06019 HKY30R
EGHR 2525M4 EGS08024 HKY40R
2525M5 EGS08024 HKY40R
2525M7 EGS08024 HKY40R
2525M8 EGS08024 HKY40R
ETEZET]
e & »
A |\ £\ s | B DL
otk R FEiR SUEIEST TR E ST Tt Wi Pt
BT31
ETHR 2525M16 CK341 LS2 cFMoz00s | | 1o2TTR gBT;?g HKY40R
PT32T2R
CBT3120
LLEIZET]
&
EERNE @ & /;,}'3&\ W
Wik R~ Tt TIE AT KEATHF FE 4T RE
1616H09 LLSCN3T3 LLP13 LLCL13 LLCS106 HKY25R
2020K09 LLSCN3T3 LLP13 LLCL13 LLCS106 HKY25R
2525M09 LLSCN3T3 LLP13 LLCL13 LLCS106 HKY25R
ggi:zt 2020K12 LLSCN42 LLP14 LLCL14 LLCS108 HKY30R
PGENRIL 2525M12 LLSCN42 LLP14 LLCL14 LLCS108 HKY30R
2525M16 LLSCN53 LLP15 LLCL25 LLCS508 HKY30R
3225P16 LLSCN53 LLP15 LLCL25 LLCS508 HKY30R
4040R19 LLSCN63 LLP16 LLCL16 LLCS310 HKY40R
1010E11 — — LLCL12S LLCS105 HKY20F
1212F11 — — LLCL12S LLCS105 HKY20F
PTANRIL 1616H16 LLSTN32 LLP13 LLCL13 LLCS106 HKY25R
PTBNR/L 2020K16 LLSTN32 LLP13 LLCL13 LLCS106 HKY25R
PTTNRI/L 2525M16 LLSTN32 LLP13 LLCL13 LLCS206 HKY25R
PTGNR/L 2525M22 LLSTN42 LLP14 LLCL14 LLCS108 HKY30R
PTFNR/L 3225P22 LLSTN42 LLP14 LLCL14 LLCS108 HKY30R
3232P22 LLSTN42 LLP14 LLCL14 LLCS108 HKY30R
4040R27 LLSTN53 LLP15 LLCL25 LLCS508 HKY30R
3225P12 LLSSN42 LLP14 LLCL14 LLCS108 HKY30R
2525M15 LLSSN53 LLP15 LLCL25 LLCS508 HKY30R
g:gsgﬂ: 3232P15 LLSSN53 LLP15 LLCL25 LLCS508 HKY30R
PSKNRIL 3232P19 LLSSN63 LLP16 LLCL16 LLCS310 HKY40R
4040R19 LLSSN63 LLP16 LLCL16 LLCS310 HKY40R
5050725 LLSSN84 LLP18 LLCL18 LLCS112 HKY50R
2020K10 LLSRN103 LLP13 LLCL110 LLCS205 HKY20R
2020K12 LLSRN123 LLP13 LLCL112 LLCS106 HKY25R
PRGCRIL 3225P12 LLSRN123 LLP13 LLCL112 LLCS106 HKY25R
PRDCN 3225P16 LLSRN164 LLP24 LLCL116 LLCS306 HKY25R
4040R25 LLSRN256 LLP16 LLCL125 LLCS410 HKY40R
5050T32 LLSRN326 LLP18 LLCL132 LLCS112 HKY50R




MCEIZT]

@©
srans /B | | & | S| /S
aue O | G| &

Rk R+ JE: TR TE (Y ER FE 4T Wi B 5 RE T
CTANRIL 1616 CT22 BCP201 CK231 LS1 CBT2: HKY30R —
CTGNRIL 2020 CT32 BCP301 CK341 LS2 CBT3: HKY40R —

2525 CT32 BCP301 CK341 LS3 CBT3: HKY40R —
CSTNRIL 1616 CS32 BCP251 CK232 LS1 CBS3: HKY30R —
CSSNRIL 2020 CS42 BCP301 CK341 LS2 CBS4:: HKY40R -
2525M43 CS42 BCP301 CK341 LS3 CBS4:: HKY40R =
CTAPRIL 2020 PT32 BCP201 CK341 LS2 CBT3(: HKY40R —
ggg;gt 1616 PS31 BCP201 CK232 LS1 CBS3 HKY30R —
CSKPR/L 2020 PS42 BCP251 CK342 LS2 CBS4:: HKY40R -
CTCPRIL 2020K16 BPT322 BCP201 CCTCH1 HSC06020 CBT3: HKY50R MES3
2525M16 BPT322 BCP201 CCTC1 HSC06020 CBT3(: HKY50R MES3
MGE ZET]
s | & |
Rk R+t B4R FURiE4T B RE
2020K3333 MTK1L/R HBH06020 MES3 HKY40R
2020K4447 MTK1L/R HBH06020 MES3 HKY40R
MGHRI/L 3232P5660 MTK2L/R MGS6 MES3 HKY50R
3232P5670 MTK2L/R MGS6 MES3 HKY50R
3232P5680 MTK2L/R MGS6 MES3 HKY50R
MG2&! % 7]
s | & |
otk R+ B4R SURHBST e RE
2525M4315 MTK1R/L HBH06020 MES3 HKY40R

MG2RI/L 2525M4323 MTK1R/L HBH06020 MES3 HKY40R

2525M4333 MTK1R/L HBH06020 MES3 HKY40R

Q019



Q020

¥ R F

EFEmEHFNNR(ZET])

MHEZET]
N N (O] 0
ErgnE @ & — S
Btk Rt Tt TREEEST R SR 4B4T i RF
MHS532R/L
KKCR/L 445 MHS533R/L | SFC03010 MHK5NR/L MHT1 CES HKY40R
MHS534R/L
MLEYZET]
0
EFERLS @ ’ ﬂ
otk R~ s g HE S
1212 P221US — ER2 KY25
ETANR/L 1616H32 P322US — ER3 KY40
ETENN 1616H33 P332US - ER3 KY40
ETFNR/L 2020K32W P323WS EST32 ER3 KY40
ETGNR/L 2020K33W P333WS EST32 ER3 KY40
ETXNR/L 2525M33W P334WS EST32 ER3 KY40
2525M43W P434W EST43 ER4 KY40
ESBNR/L | 1212 P321US — ER3 KY40
Eggngt 1616H32 P322US - ER3 KY40
ESKNR/L 2020W P433W ESS42 ER4 KY40
ESSNR/IL | 2525W P434W ESS42 ER4 KY40
MP&!ZET]
\@ 0
EFRUE ) 4@ f
&
Bt Rt Tt S SEaRsT P RF
PVVNN
PVPNRIL 3225P16 PV32: P11S HSP05008C E03 HKY25R
MT2E8 % 7]
#rauE § § %
Bk Rt R FeE ST T RF
MT2R/L 2525M4 MTK1L/R HBH06020 MES3 HKY40R




SETR%7]

R Y,
B — ’ $ P LN
FrEES a8 @ €2 & VE= ,/
Rtk R+t B4R FEIB4T CRISE TIRE 84T kS e
1616H16 SETK51 SETS51 CR4 HFC03008 CT32T1 YRR
SETHR 2020K16 SETK51 SETS51 CR4 HFC03008 CT32T1 e
2525M16 SETK51 SETS51 CR4 HFC03008 CT32T1 A
SLEIZET]
EraLe & & f
Ny & | & S
Rtk R+t Tig sy 25 EE T EIB4T e
HKY25R
33K16S SLSTN33 SLP13 SLN13 SLCW13 SLCS105 HKYAOR
HKY25R
ETINRIL 44M16S SLSTN33 SLP13 SLN13 SLCW13 SLCS105 HKYA0R
ETQNRI/L 44M22S SLSTN43 SLP14 SLN14 SLCW14 | SLCS106 Y aoR
HKY30R
54P22S SLSTN43 SLP14 SLN14 SLCW14 SLCS106 HKYA0R
ETNNRIL 64M22S SLSTN43 SLP14 SLN14 SLCW14 | SLCS106 HIYaoR
HKY30R
85M22S SLSTN43 SLP14 SLN14 SLCW14 SLCS106 HKYA0R
SPRZT]
o 2 &5 B>
EFERES @. // / ﬁ
Rtk R+t e 5 e Tig TR
0808D07 TS25 TKYO08F - -
:g‘;ggt 1010E07 7825 TKY08F — _
SDXCRIL 1212F07 TS25 TKYO8F - -
1616H11 TS43 TKY15F = =
0808D11 TS25 TKYO8F - -
gwg';’" 1010E11 7825 TKYOSF _ _
SVPCRIL 1212F16 TS43 TKY15F - -
3225P16 TS44 TKY15R SPSVN32 BCP141
SSBCRIL 1616H09 TS43 TKY15F - -
0808D06 TS25 TKYO8F = =
SRGCR/L 1010E06 TS25 TKYO08F - -
SRXCRIL 1212F06 TS25 TKYO8F = =
SRDCN 1010E08 TS3 TKYO8F — —
1212F08 TS3 TKYO08F = =
SREZET]
p
N Y /S
EFEQHE § | /
Rtk R+t KR IBST ES
SRSGRI/L 2525M20 TS5 TKY25F
SRSGN 3225P20 TS5 TKY25F

Q021




¥ R F

EFEmEHFNNR(ZET])

[EWPZT]
/o PN
RIS ‘ & 8> 4@ ﬁ
mil s \| \4’ & N/
Rtk R+ N | nmmis | B | RERST | NESRR | SREsT | B T
HKY30R
MTINRIL 2020K16  |SLSTN33| CCP13 | CCK13 |SLCS105| CPT13 | wpPs1 | MEs2 | HKY3OR
MTENN 2525M16  [SLSTN33| CCP13 | CCK13 |SLCS105| CPT13 | WPs1 | MEs2 | HYZOR
MTQNRIL 2525M22  [SLSTN43| CCP14 | CCK14 |SLCS106| CPT14 | WPs1 | MEs3 | HKY3OR
MTNNRIL 5032M22  |SLSTN43| CCP14 | CCK14 |SLCS106| CPT14 | wPst | MEs3 | HiRYZOR
2020K08
HKY30R
MWLNR/L 2525M08  |WPSWN43| CCP34 | CCK13 |SLCS105| CPT24 | — MES2 | [l iaoR
3225P08
WPEIZ 7]
P
ERuE (Y| @ -
- &8 e
Rk R nE | et | R | RESS | WEMES | SRR | B T
2020K16N  |WPSTN33| CCP33 | CCK13 |SLCS105| CPT13 | — MEs2 | HKY2ZOR
MTENN _ HKY25R
MTQNRIL 2525M16N  |WPSTN33| CCP33 | CCK13 |SLCS105| CPT13 mEs2 | HKY2oR
2525M22N  |WPSTN43| CCP34 | CCK14 |SLCS106| CPT14 | — MEs3 | HKY3OR
MTNNRIL 5032M22N  |WPSTN43| CCP34 | CCK14 |SLCS106| CPT14 | — MES3 |HRY3IT-
SEIMTAZET]
R
S &F
2 auE N\ X
i @ & & /Y
otk R+ N NBEH SRALH XEET 5T
PTGERIL 2020K16 LLSTES32 LLP13 LLCL131 LLCS106 HKY25R
PTFERIL 2525M16 LLSTE32 LLP13 LLCL131 LLCS106 HKY25R
SUVDN 1616H16 — — — FC400890T | TKY10F
SVPDRIL 2020K16 - — —~ FC400890T | TKY10F
2525M16 - - - FC400890T |  TKY1OF




EFRSHMNREMI/IERMI)

DGR ZJ]
>y Q
7 2 NN
JEiR AR B 4T RF KUEIEST s
DGHRI/L 1616K2G DGK2R/L - HKY40R DGS51 MES2
DGHRI/L 1616K3 DGK3RIL - HKY40R DGS51 MES2
DGHRI/L 1616K3G DGK3RIL - HKY40R DGS51 MES2
DGHRI/L 1616KF3 DGK3RIL - HKY40R DGS51 MES2
DGHRI/L 2020K - HSC04014 HRYSOR DGS51 MES2
DGHRI/L 2020KFS - HSC04014 NS DGS51 MES2
DGHRI/L 2020KL - HSC04014 HISY39R DGS51 MES2
DGHRI/L 2020KLS - HSC04014 O DGS51 MES2
DGHRIL 2020KS - HSC04014 HISY20R DGS51 MES2
DGHRI/L 2525M - HSC05012 HKY40R DGS51 MES2
DGHRIL 2525MC - HSC05012 HKY40R DGS51 MES2
DGHRIL 2525MCS - HSC05010 HKY40R DGS51 MES2
DGHRIL 2525MF - HSC05012 HKY40R DGS51 MES2
DGHRI/L 2525MFS - HSC05012 HKY40R DGS51 MES2
DGHRI/L 2525ML - HSC05012 HKY40R DGS51 MES2
DGHRI/L 2525MLS - HSC05012 HKY40R DGS51 MES2
DGHRIL 2525MS - HSC05012 HKY40R DGS51 MES2
HSK-T7]& (DG)
: - & A
EZrEmElS &‘\\\
SR E EIR4T KUEIEST g RF
H63TH-DGHRI/LS HSC05012 DGS51 MES2 HKY40R
H63TH-DGHR/L HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-H4 HSC05010 DGS51 MES2 HKY40R
H63TH-DGHN-H5 HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-H6 HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-L4 HSC05010 DGS51 MES2 HKY40R
H63TH-DGHN-L5 HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-L6 HSC05012 DGS51 MES2 HKY40R
UGE%ET]
e
DGHN262 UGS1
DGHN263 UGS1
DGHN264 UGS1
DGHN265 UGS1
DGHN322 UGS1 =
DGHN323 UGS1
DGHN324 UGS1
DGHN325 UGS1
RATFUGETIHIE E EE
ks Tk
‘ ©
AL \g@ f %
R KUEIE4T e BRI e
KGBN26-20 KGC1 LST15T TKY25R HSC08016 HKY60R
KGBN26-25 KGC1 LST15T TKY25R HSC08016 HKY60R
KGBN32-20 KGC1 LST15T TKY25R HSC08016 HKY60R
KGBN32-25 KGC1 LST15T TKY25R HSC08016 HKY60R

Q023



153

Q024

¥ R F

EFmE N R(ETIH)

B $ 714
Ergne §§ ,,
e BT RF
S08HSTFPR09 TS253 TKYOSF
S10KSTFPR09 TS25 TKYOSF
SCSTFPR11 TS3 TKYOSF
CHSTFPR16 TS4 TKY15F
SCLPR/LO08 TS3 TKYOSF
SCLPR/L09 TS4 TKY15F
SWLPR/L04 TS25 TKYO8F
SWLPR/L06 TS4 TKY15F
BEBIRETIF(BERE£ETIH)
A
EraLS §§ J
S EiRsT RF
E08KSTFPRO09 TS253 TKYOSF
E10MSTFPRO9 TS25 TKYOSF
EC)STFPR11 TS3 TKYO8F
E¢3 X 3SCLPROS TS3 TKYOSF
EC % SCLPR09 TS4 TKY15F
DAIETIE
S ©) o
] @ & /,/;\\ L? Q f
otk Rt Tt TRERH | REAH S EiR4T S AH B 25 18 RE
132R/L | LLSSN42 | LLP14 LLCL14 |LLCS108 — — — HKY30R
DPSK 140R/L | LLSSN42 | LLP14 LLCL14 |LLCS108 — - - HKY30R
150R/L | LLSSN63 | LLP16 LLCL16 |LLCS110 - - - HKY40R
163R/L | LLSSN63 | LLP16 LLCL16 |LLCS110 - - - HKY40R
OPTE 150R/L | LLSTN42 | LLP14 LLCL14 |LLCS108 — — — HKY30R
163R/L | LLSTN42 | LLP14 LLCL14 |LLCS108 - - — HKY30R
DPDU 132R/L | LLSDN42 | LLP14 LLCL24 |LLCS108 — — — HKY30R
DPDH 140R/L | LLSDN42 | LLP14 LLCL24 |LLCS108 - - - HKY30R
DPDZ | x 150R/L | LLSDN53 | LLP15 LLCL15 |LLCS208 - - - HKY30R
DPCL 150R/L | LLSCN63 | LLP16 LLCL16 |LLCS110 — — — HKY40R
163R/L | LLSCN63 | LLP16 LLCL16 |LLCS110 - - - HKY40R
DPVP 150R/IL | PV322 P11S — HSP05008C — — E03 HKY25R
132R/IL | PT32 BCP201 — — c4 CBT3N — HKY30R
DCTU 140R/L | PT42 BCP251 - - c5 CBT4F - HKY40R
150R/L | PT42 BCP251 - - c5 CBT4F - HKY40R
XDPDH150R/L& 33 L EHHI R ~F 5140R/LE
DEVEE TSk (PB4 YNHEF )
0
EFEgHE ﬁ 4@ ﬁ
ik Rt S SEEsT i RF
OPT2 132R P21S HSP08014 EO01 HKY40R
140R P21S HSP08014 EO1 HKY40R
OPT4 132R P21S HSP08014 EO01 HKY40R
140R P21S HSP08014 EO1 HKY40R




FEISE TIHF

= ©) @ ﬁ
EFEaBS ﬁ gu
otk R~ Ttk TV E R A Wi /B i
116R/L - - C3 CBS3 HKY25R
FCSK 120R/L - - C3 CBS3 HKY25R
125R/L PS42 BCP252 C4 CBS4F HKY30R
132R/L PS42 BCP251 C4 CBS4F HKY30R
216RI/L - - C3 CBS3 HKY25R
FCSK 220R/L - - C3 CBS3 HKY25R
225R/L PS42 BCP252 C4 CBS4F HKY30R
FCTU 232R/L PT32 BCP201 C4 CBT3F HKY30R
FRUEE TIHF (V4B N4 R)
s | @ | @ | P Pl o |4
J V= & /
Ak R+t JER KR KUEIE4T Ttk TIEE EIE4T CEIE e
116R/L LK1 — HBH04012 - - - HKY25R
120R/L LK1 - HBHO04012 - - - HKY25R
125R/L LK1 — HBHO04012 - - - HKY25R
FCL5 132R/L LK1 - HBH04012 - - - HKY25R
216R/L LK1 — HBHO04012 - - - HKY25R
220R/L LK1 - HBH04012 - - - HKY25R
225R/L LK1 — HBHO04012 - - - HKY25R
M16R - C3 - - - - HKY25R
Q20R - C4 - - - - HKY30R
NTF R25R - C4 - - - - HKY30R
R216R - C3 - - - - HKY25R
S220R - C4 - - - - HKY30R
T225R - C4 - - - - HKY30R
K16R11 - - TS25 - - - TKYO8F
M16R - — CS350860T - - - TKY15F
P20R SETK51 - SETS51 CT32T1 HFC03008 CR4 Es
R25R SETK51 — SETS51 CT32T1 HFC03008 CR4 IRYLeE
SNTF M210R11 - - TS25 - - - TKYO8F
Q212R11 - — TS25 - - - TKYO8F
R216R - - CS350860T - - - TKY15F
S220R SETK51 — SETS51 CT32T1 HFC03008 CR4 TKY15F
T225R SETK51 - SETS51 CT32T1 HFC03008 CR4 TKY15F
120R/L3M - BC5 - - - - TKY20R
125R/L3M - BC5 - - - - TKY20R
132R/L3M - BC5 - - - - TKY20R
120R/L4M - BC5 - - - - TKY20R
FcbG4 125R/L4M - BC5 - - - - TKY20R
132R/L4M - BC5 - - - - TKY20R
125R/L5M - BC5 - - - - TKY20R
132R/L5M - BC5 - - - - TKY20R
120R/L4J - BC5 - - - - TKY20R
125R/L4J - BC5 - - - - TKY20R
FCDG4 | 132R/L4J - BC5 - - - - TKY20R
125R/L5J - BC5 - - - - TKY20R
132R/L5J - BC5 - - - - TKY20R

Q025



¥ R F

EFmE N R(ETIH)

MEIE T
V. @ & \‘@
@ S ‘
EFRLS & a2 < § ﬁ &g
N | mmaw | EE | WENER | WK | kRS | 5T 5z
A25RMWLNR/LO08 - - CCK13 | CPT24 | MES2 | SLCS105 | V25 |HGM-PT1/4
A32SMWLNR/LO8 ~ |WPSWC43| CCP44 | CCKI3 | CPT24 | MES2 | SLCS105 | [1<V29R |HGM-PT3/8
A4OTMWLNRILOS  |WPSWCA43| CCP44 | CCK13 | CPT24 | MES2 | SLCS105 | V25K |HGM-PT3/8
PEISETIH
. O \
@ '»'K\\ f \‘@
EERNS S&7 @ & o3 Q&‘\g
e TR KEAA KEBST 5 8z
A50UPSKNR/L19 LLSSP63 LLP16 LLCL16 LLCS310 HKY40R | HGM-PT3/8
A40TPCLNR/L16 LLSCN53 LLP15 LLCL25 LLCS508 HKY30R | HGM-PT3/8
A50UPCLNRI/L19 LLSCP63 LLP16 LLCL16 LLCS310 HKY40R | HGM-PT3/8
SEUETIH (B & & TIH)
&
EPEREE &
*EEET 5
SSKCR/L09 Ts4 TKY15F
SDUCRIL15 TS5 TKY25F
SVUCR/L11 TS25 TKYO8F
SVUCR/L16 Ts4 TKY15F
SCLCRIL12 TS5 TKY25F
SCZCRILO06 TS25 TKYO8F
SCZCRIL09 Ts4 TKY15F
SCZCRIL12 TS5 TKY25F
SDZCR11 TS4 TKY15F
SEVEE TIHF (S HIR TI4F)
& 7S
EFRUS & /
; XEEET 5
SSKCR/L12 TS5 TKY25F
SDQCRIL15 TS5 TKY25F
TS25 TKYO8F
TS4 TKY15F
TS5 TKY25F
TS4 TKY15F

Q026



EFmEHNNR(IFEEITIL)

BEETS (A FHMER

N
gﬁi& ns \\\\\\\\& ﬁ £ ] B8
1 ZhaEgT BB ST RF

NA1 HFC03008 HY-A1 HKY20R

NV1 HFC03008 HY-V1 HKY20R

NA2 HSC03010 HY?2 HiSy22R

NV2 HSC03010 HY2 HRYS5R ARIE R, AT RS,

NA3 HSC04010 HY3 HIKY20R FEZHEGR, BEWMMA R B FHITZH.
NV3 HSC04010 HY3 HkY30R

NA4 HSC05012 HY4 ARY3oR

NV4 HSC05012 HY4 B

BEETIL(TIR)FHH R

S

(!

&

ErEmES
(AHFES) — 4
KEIH SREZIRET D)3 TIREAH A RRF wF

NASP11 — CS250T - — HR12 TKYO8F
NVSP11 = CS250T = = HR12 TKYO8F
NASP21 - CS300890T - - HR12 TKYO8F
NVSP21 = CS300890T = = HR12 TKYO8F
NAPN21 LLCL12S LLCS103 - — HR12 HKY20F
NVPN21 LLCL12S LLCS103 = = HR12 HKY20F
NASP31 - CS300890T - — HR34 TKYO08F
NVSP31 = CS300890T = = HR34 TKYO8F
NAPN31 LLCL12S LLCS103 - — HR34 HKY20F
NVPN31 LLCL12S LLCS103 = = HR34 HKY20F
NAPN41 LLCL13 LLCS106 LLSTN32 LLP13 HR34 HKY25F
NVPN41 LLCL13 LLCS106 LLSTN32 LLP13 HR34 HKY25F

Qo027



¥ R F

EFmEFNNR(ERT)

AF5000&YE % 7]
®
EFRLS 7 & RYRIAT R
# FZ 24T EEIEET wRF wRF
AF5000%Y CWAF5R/L LS10T KS1S TKY25T HKY15R NF10000 (©M072)
BAP300& k7]
= _
EFERS & HRAT=
FZ12T
BAP300%! TS25 APX3000 (©@M096)
BAP400& % 7]
= _
EERUS § o REIAT 7=
B <)
BAP400-040A04R TS43 TKY15F
BAP400-050A05R TS43 TKY15F
BAP400-063A06R TS43 TKY15F
BAP400R0307C TS43 TKY15F APX4000 (©@M102)
BAP400R0408D TS43 TKY15F
BAP400R0509E TS43 TKY15D
BAP400R0610E TS43 TKY15D
BF4078YmE 5% 7]
— @ )
EERUE ] & & 3t REHAT 7=
# F 25T 25T wF
BF407R0812K CWSF407TR2 LS15T CAS51T TKY25T
BF407R1016K CWSF407TR2 LS15T CAS51T TKY25T —
BF407R1218P CWSF407TR2 LS15T CAS51T TKY25T
BN4253E 5k 7]
I .‘ & S BT
# FZ12ET wF
= BN425%! CWS43SNN LS14T TKY25T —
BOEZ&! % 7]
EFRUE & & &” T RLAT =
RIEH RIEH KU I2ET EZBSTRIRF | RFEERARF
BOER0202B LS21 — CS501290T TKY25T HKY50R
BOE-050A02R LS20 — CS501290T TKY25T HKY50R
BOER2H03B — BOES101 CS501290T TKY25T HKY80R
OCTACUT M180
BOE-063A03R — BOES101 CS501290T TKY25T HKY80R © )
BOER0304C - — CS501290T TKY25T —
BOER0405D — HSC16035 CS501290T TKY25T —

Q028



BSX400&YmE &t 7]

F 4 D
& & 7
EFRUE 4 Valyi e )
ERET "F
BSX400R05004A TS43 TKY15F
BSX400R06305A TS43 TKY15F
BSX400R08006C TS43 TKY15F ASXA00 (SMOS0)
BSX400R10008D 543 TKY15F
BSX400R12510E TS43 TKY15D
BSX400R16012E 7543 TKY15D
BSX5008/E #t 7]
& <
ErRES =7 e
EERET NREEET Ttk nF
BSX500%! CSF401260T | WCS604010H STBS500N TKY20D ASX400 (©OM080)
BXD70008 [ $% 7]
o 7
ErguS S / SREAT
SERET T
BXD7000%! TS58L TKY25D AXD7000 (OM142)
BZC400&!E #t 7]
f S (
£ S &S
EERLE &~ ¢ /Q RYRZT
*ERET =R X ERITRAT ZEQRART
BZC400-032A03R CS350990T LS24 TKY10F HKY40R
BZC400-040A04R CS350990T - TKY10F - APX4000 (SM102)
BZC400R0408D 53509907 - TKY10F -
E4048YME 3t 7]
— — (D
EZFERES \\E\} — @ & 3 R ELIT 7= SR
ZAM  GAREREN| 1R | JRERMN| @ | JRERMY| RE | BT
E404%) SSE41R | SPS1 SCD43 STS1 |CWS3R/L| WS1 |TKY10R|TKY25T —
FBP4158E§t 7]
S e
<o & & (S
ErRuE S~ @ & & ,/® X RERAT
s THE XERET | NREERE | XERTAAT | TEEEMIRET
FBP415R0308C
FBP415R0410D
FBP415R0514E
FBP415R0618F STSP415R |CWSP415TR LS10T TS32 TKY25T TKYO8F [AHX640W (©M054)
FBP415R0822K
FBP415R1028K
FBP415R1234P

Q029



Z
153

Q030

¥ R F

EFmEFNNR(ERT)

FN548BIE L 7]
> ©
EERRE ’ & HAEIRE RSk MRS
" K E 5T T E
120QSPK x 80| 6.35(]x 4
J] —
FN548% Cws4 LS14 HKYA0T | (qegemmsl) |(Bsiferis)
LSE4458mE %t 7]
/ Py Q
.@ RS (S
ErEgue N @' " & o RHAT =
T TRE TR " ET T GENET T Gl
LSE445%! STBE445NF | CS300890T |CWSE445TR|  LS15T TKY25T | TKYOSBF | ASX445 (©M030)
MG300,4008U 5% 7]
4' G,
S &
] \\Q VA T RHAT
ETT b BE
MG300%! CS350990T TKY10F -
MG4003 CS451190T TKY20F ASX400 (OM080)
MG345,4458 % 7]
EPRES & Vi & RREAT 7
ETT b WE
MG3458! CS350990T TKY10F
MG445%! CS451190T TKY20F ASX445 (QM030)
MGP4458 mEL 7]
_ £ 4 )
ErRUe 7 Va T RHT =
ETT b E
MGP445%! CS401160T TKY15D ASX445 (@M030)
MSD4453IE $% 7]
vy )&\@
EFERBE ’ ¢ MR &
1 ETT O, BT
MSD445E! CWMSE445R2 LS15T TKY25T ASX445 (OM030)
MSE4458 m$t 7]
vy ,&\v\\@
ErRUS ’ ¢ T RHT =
" ETT Ol BT
MSE445%! CWMSE445R2 LS15T TKY25T ASX445 (@M030)
NR10000& 5% 7]
=] © | = © S
EFgne \~ & GO & &\\\\\ SRR
" ETT b AR EEEsT 984T BT
NR10000%! CWAF10R2 LS10T CWAF10N LS15T CSAF10 TKY25T —




NSE300EImE &t 7]

S T\ S ) 2
A (S Q,
I W' @! & & / & TR,
E TH EEEST | TAMERES | XERSBAT SAERETREE] RzeER
NSE300-050A04R B
NSE300-063A05R CWTSE300TR|  LS19T TKY15T
NSE300R0408D HSC16035
NSE300R0306C
NSE300R0510E SPTSE30OR | cyinsesoorR| Ls1oT TS32 | rkyost | TKYO8F ASX400 (OM080)
NSE300R0612F _
NSE300R504S32
NSE300R635532 CWTSE300TR|  LS19T TKY15T
XREHLE (N - m) : LS10T=8.5, LS19T=5.0, TS32=1.0
NSE400ZE$t 7]
AN NS £
EPRLS “@' @! & & / R XYRLATF
IR TR FEEST | TAMERES | KEROBAT TAeEREIRE Riee
NSE400R0306C -
NSE400R0407D HSC16035
NSE400R0508E
NSE400RO0610F SPTSE400R |CWSE300TR| LS10TS | TS32 | TKY25T | TKYOSF B ASX400 (©M080)
NSE400R503S32
NSE400R634S32
P425 « P5258Y i $% 7]
— 68D
15| | (o) | & D
EFRUS & /P &\0 TS
R |GAkEREN] R [nEzen] £ [gExed] KT | 6T
P425%! SSP41R | SPS1 |SCP431R/L| STS1 |[CWS1R/L| WS1 |TKY10R|TKY25T| ASX445 (©M030)
P525%! SSP51R | SPS1 |SCP521R/L| STS1 |CWS1R/L| WS1 |TKY10R|TKY25T| SE515 (©M062)
QBF407& mE k7]
(& | & | £ | & N
EERNS [ & & & HERTS
12 FEIEST ST SR Bl 485T T
QBF407R0304Q CWSF407TR1|  LS15T CAS51T QPAR1 | TFC04010 | THY29R
QBF407R0406Q CWSF407TR1|  LS15T CAS51T QPAR1 | TFC04010 | THY20R -
QBF407R0508Q CWSF407TR2| LS15T CAS51T QPAR1 | TFC04010 | THY29R
QBP415& HE 7]
5 -
<> &s 97 S
Ergme N T & & SRR Lid
T8 TIERE 4T TR FEIBET HF
QBP415%! STSP415R TS32 QWGR1 LS10T TKY25T —
QF10000&Y 5% 7]
D ® 8
‘AlSADC IR A S
EFRUS @ & S <D \\g&\\ XRZRAT R
Hg | kgey | Se | Beey | BEe | BRey | e | 5T
QF10000%! CWAF10R3| LS15T | QPCRT | TFC04010| CWAF1ON| LS10T | CSAF10 | Jieyaor -

Q031



¥ R F

EFmEFNNR(ERT)

QSE4158mE%t 7]
— S /
) £ O & D AR
S ‘- & & & XIREAT
i3 YT O EiEsT EIr BT IE5] HF
QSE415%! CWSF407TR3|  LS15T CAS51T | QPAR1 | TFCo4o10 | IKY20R -
TKY25T
SE300&E§% 7]
/7 yay; /7 ©
S I \ ‘ @ @ P
EERAS © S & HRRATS
TRY | esimornm |  TEE SEE | exmmnm EEBIT| BT
SE300&! SPSE300R| SPSEW300R |CWNSE300TR|CWSE300SN| CWSEW300SN | LS10T |[TKY25T -
SE400&E$% 7]
o — — ‘.l ay, ©
\\e) \\e)y )
EEgNe (3 ¥ ’I " & ST,
TEAM | qekAr ) TERIE SEZ FE 24T RE
SE400%! SPSE400R | SPSEW400R | CWSE400TN [CWSE400SN {-3?5105(}{03040510” TKY25T -
SE4158IE k7]
v P Q
e | | f & o
RS S S $ R IAT
FARE Ttk TR SEZ ETT O RF
SE415R0304C
SE415R0306C HSC12035
SE415R0405D
SE415R0407D SPSE415R | STSE415R |CWSE445TR ||CWSE445SN|  LS15T | TKY25T | HSC16035 | SE515 (©M062)
SE415R0506E
SE415R0611F
SE4458I % 7]
7 S/ ©
(o)) | (57 | & -
EFRES S S & RLHAT =
HRE Ttk TR SE S EIEST T ReEEIE
SE445R/L03 HSC12035
SE445RILO SPSE445RIL | STSE445RIL | CWSE445TRIL| CWSE445SN| LS15T | TKY25T HSC16035 ASX445 (©OM030
7 SE445R/LO506E ° 5 g S 5 S ( )
% SE445R/L1214P
n SE5458I % 7]
vy S/ ©
(o)) | (s7) | & :
EERES S S & HRHAT =
HRH Ttk TR SE S UEIEST S ReEIEI
SE545R0405D HSC16035
SE545R0506E SPSE545R | STSE545R |CWSE545TR [CWSES45SN|  LS15T | TKY25T B ASX445 (©OM030)
SE545R1012K

Q032




SHP400EH$% 7]

o \ <,
EERNE |’ & &S 4 & X REAT
THR XERST | ZANEERT | XERORRT | SAHERETART
SHP400E CWSE300TRIL | LS10T 7532 TKY25T TKYOSF | ASX400 (©M080)
VIP400ZY T £t 7]
D A&
Erpue & / TR
KERET 5
VIP400E CS501160T TKY20F ASX400 (©M080)
VIP4458Ei 5t T
R (S
RN 4 Vi SRR R
KERET ®F
VIP445% CS501160T TKY20F ASX445 (OM030)

Q033



Q034

¥ R F

EFmEHFNNR(IIET])

BAERIII$% 7]
= (S
ErauS & V4 SYREHT =
S HB4T BF
BAE500R161S16 TS42 TKY15F
BAE500R201S20 TS42 TKY15F
BAE500R252S25 TS42 TKY15F
APX4000 (©M102
BAE500R323S32 TS4 TKY15F © )
BAE500R403S32 TS4 TKY15F
BAE500R504S32 TS4 TKY15F
BAE600E! TS52 TKY25F
BAP300& 3% 7]
= (S
RS & V4 SYREHT =
S E 44T BF
BAP300&! (T {Z1HI &) TS25 TKY08F —
BAP400&I3T $% 7]
& (S
RS & / SRZHT =,
S HEST e
BAP400R252S25 TS4 TKY15F
BAP400R323S32 TS43 TKY15F
BAP400R404S32 TS43 TKY15F APX4000 (©M102)
BAP400R505S32 TS43 TKY15F
BAP400R636S32 TS43 TKY15F
BAP400%! (1 71 8Y) 31k 7]
& (S
Erpue & / TR
S HEST "F
BAP400E!({< 7] &) TS43 TKY15F APX4000 (©M102)
BAP35008437 5% 7]
= A
Ergue & V4 X REHAT
SR 44T BF
BAP3500R161SA16 TS3 TKYO8F
BAP3500R161SN1 TS3 TKYO8F
BAP3500R202SA20: TS32 TKYO8F
BAP3500R202SN20" TS32 TKYO8F
BAP3500R253SA2 TS32 TKYO8F
APX M
BAP3500R253SN25: TS32 TKYO8F 3000 (OM096)
BAP3500R324SA32: TS32 TKYO8F
BAP3500R324SN32: TS32 TKYO8F
BAP3500R405SA32: TS32 TKYO8F
BAP3500R405SN32 TS32 TKYO8F




BOEZIII$t 7]

EERAE \Q\\\& X RZIAT =
EREST s
BOEZR! CS501290T TKY25T OCTACUT (©M180)
BREZIII 7]
&

—_ S g $ jmr
EERRES & \‘f &_‘.\5 3R TS
EREET EiR FEAR ST W S
BREZ! TS5S AMS5 BRS105 ASS3 TKY25R BRP (OM196)

BSPRE!IL$t 7]
}‘ B
Ergme & VA & R R
EEEST e
BSPRE! CS451190T TKY20F APX3000 (©M096)
BSX300&Y37§% 7]
= 5
ETERS & / R
EERST S
BSX300%! TS32 TKYOSF APX3000 (©M096)
BSX4008Y 37 % 7]
) /S
EERES & V4 S R
RS e
BSX400%! TS43 TKY15F ASX400 (©M080)
BSX500&! 57 $% 7]
& < 7
ErRLS & & ~/ / e
TR TBE RS nE e
BSX500%! CSF401260T WCS604010H STBS500N TKY20D ASX400 (©M080)
BXD7000&! 37 $% 7]
2 :
ErRuE & SR
EREST S
BXD7000R251SA25SA/B TS5S TKY25D
BXD7000R321SA32SA/B TS5S TKY25D AXD7000 (OM142)
BXD7000R402SA42SA/B TS5SL TKY25D
BZC400&! 37§t 7]
&
LI YA AT
EERST e
BZC400%! CS350990T TKY10F APX4000 (©M102)

Q035



Z
153

Q036

¥ R F

EFmEFNNR(IINT])

CVEIII$tT]
EERuE S (g S R 7
S E 5T E# FEiR ST HE T
CV10R253S32 TS4 AMS3 BRS103 ASS2 TKY15R
CV12R323S32 TS4 AMS3 BRS103 ASS2 TKY15R BRP (©M196)
CV16R403S32 TS5 AMS5 BRS105 ASS3 TKY25R
CV20&I3I %t 7]
&
& - _
EFRLE & = HRATF
KRBT # BF
CV20R403S32 LS14T CWCV20 TKY25T -
DCSD,DCSNE Tt 7]
EEREE @ @ @ f ; S wmmeee
&
T EEIRET SRS T EEIRET SR BF | HF
DCSDR2063SN - TS5S - DKS5  |HKY40R|TKY25T
DCSDR2063LN - TS5S - DKS5  |HKY40R|TKY25T
DCSDR2080SN - TS5S - DKS5  |HKY40R|TKY25T
DCSDR2100SN - TS5S — DKS5  |HKY40R|TKY25T
DCSNR2063SN JSs7 TS5L Jss7 DKS5  |HKY40R|TKY25T
DCSNR2063LN JSS7 TS5L JSS7 DKS5  |HKY40R|TKY25T| SPX (©M215)
DCSDR2063SB - TS5S - DKS5  |HKY40R|TKY25T
DCSDR2063LN — TS5S — DKS5  |HKY40R|TKY25T
DCSNR2063SB JSs7 TS5L JSs7 DKS5  |HKY40R|TKY25T
DCSDR2080SA - TS5S - DKS5  |HKY40R|TKY25T
DCSNR2080SA JSs7 TS5L JSs7 DKS5  |HKY40R|TKY25T
ECMPE I ;7]
&
EERES & S BT
ST HF
ECMP252525 TS4 TKY15R
ECMP322S32 TS5 TKY25R -
ECMP402542 TS5 TKY25R
FF30008Y37 $t 7]
&
.@ 155
EEREE 7 \\\&?”/ / o REAT =
Tk R HF
FF3000%! FFSS FFP HKY25L —
FSTERII$ET]
ZrREe L34 % & XREAT
SRt i SR ARET SR E RS HF
FSTEZ! TS441R CWFSTE LS10T CPM03008 TKY25T | ASX400 (©M080)




MG200,30084 37 % 7]

& _
EEREE & ) BT
Fe R 984T e
MG200%! CS300890T TKYO8F -
MG300%! CS350990T TKY10F ASX400 (©M080)
MG245,3458437 5% 7]
& _
EEREE & , BT
F R IB4T e
MG245%! CS300890T TKYO8F
ASX445 (©M030
MG345%! CS350990T TKY10F © )
MSE4458I37 % 7]
[=] = | @ 4==r O
RN S & o REAT 7=
7 BT e
MSE445%! CWMSE445R1 LS15T TKY25T ASX445 (@M030)
NSE300E mEt 77
ay P& %
o S Y & =
EEREE & & ,, BT
FEM TR EEBET | ZAMETIES | REBSTRET |ALERERET
NSE300R504S32
NSE300R635S32 SPTSE300R|CWTSE300TR LS19T TS32 TKY15T TKYO8F ASX400 (©M080)
NSE400&E§t 7]
EERAS M & $ AT
FE M TR EZBS] | ZAMETES | REETHET
NSE400R503S32
NSE400R634S32 SPTSE400R| CWSE300TR LS10TS TS32 TKY25T TKYO8F ASX400 (©M080)
SE300&! 31 §% 7]
= oy % ©
EFERES 4 © © $ * REHAT 7=
TR TR SEI S EIE4T e
SE300%! SPSE300R |CWNSE300TR| CWSE300SN LS10T TKY25T -
SHP400&!31 5% 7]
EFRHE 7y !I & S / L7 7=
FAR TR BT | LAHETES| REBSTRRT | TALETEIRET
SHP400%! SPSHP400R | CWSE300TR| LS10T TS32 TKY25T TKYO8F ASX400 (©M080)

Q037



Q038

¥ R F

EFmEFNNR(IINT])

SREE It 7]
>l 2 | o | A
ErRuE & (= / S RERAT
EEEET A 14 E
SRER100SS16 TS253 - — TKYO08F
SRER120SS16 TS3 - - TKYO8F
SRER140SS16 TS3 — - TKYO8F
SRER160SS16 TS35 — - TKY10F
SRER180SS20 TS35 — — TKY10F
SRER200SS20 SRS5 SRK1R CR4 TKY20F —
SRER200SL20 SRS5 SRK1R CR4 TKY20F
SRER250SS25 SRS5 SRK1R CR4 TKY20F
SRER250SL25 SRS5 SRK1R CR4 TKY20F
SRER300SS32 SRS5 SRK1R CR4 TKY20F
SRER300SL32 SRS5 SRK1R CR4 TKY20F
STLGEIII#:T]
RS & / T EIHAT 7
EEEET W
STLGR22S32 CS300890T TKYO8F KSMG (©M252)
STLGR38S32 CS350990T TKY10F
VIPERE I ;7]
EFRUS & / XA
REEET F
VIPERE CS400990T TKY15D SPX (OM215)
ZREIIIHtT]
%"
RS YA o BT
EEEST F
ZR202C/T TS25 TKYO08F
ZR252C/T CS300890T TKYO08F
ZR322C/T CS300990T TKY10F -
ZR402C/T CS451190T TKY20F
ZR502C/T CS451190T TKY20F




EFmEHFN R (RS T])

FBE2&!3T 5% 7]
£ f
EFERLE 2 X RHT =%
F X247 wF
FBE2200SM CS300590T TKYO8R
FBE2250SM CS350790T TKY10R
FBE2300SM CS400990T TKY15R
FBE2200SF CS300590T TKYO8R SRF (OM228)
FBE2250SF CS350790T TKY10R
FBE2300SF CS400990T TKY15R
TBE1&! , TBE2&IT &t 7]
TS 4 CS
£
EERRE S $ o RIAT =
EZ 1 <)
B3 77 ShETI B3 77 ShETI
TBE1100SS TS3 — TKYO8F — — —
TBE1100SM TS3 — TKYO8F — — — —
TBE1100S TS3 — TKYO8F — — —
TBE1150S CS300790TS — — TKY10R — —
TBE1200S CS400990T — — TKY15R — —
TBE1250S CS400990T — — TKY15R — —
TBE1300S CS501290T — — TKY25R — —
TBE2150S TS254 — TKYO8F — — —
TBE2150SM TS254 — — — — —
TBE2160S TS254 — — — — —
TBE2160SM TS254 — — — — —
TBE2200S CS350790T — — TKY10R — —
TBE2200SM CS350790T — — TKY10R — —
TBE2250S CS400990T — — TKY15R — —
TBE2250SM CS400990T — — TKY15R — —
TBE2300S CS501290T — — TKY25R — —
TBE2300SM CS501290T — - TKY25R — —
TBE1150SU CS300790TS — — TKY10R — — SRM2 (@M236)
TBE1200SU CS400990T — — TKY15R — —
TBE1250SU CS400990T — — TKY15R — —
TBE1300SU CS501290T — — TKY25R — —
TBE2150SU TS254 — TKYO8F — — —
TBE2160SU TS254 — TKYO8F — — —
TBE2200SU CS350790T — — TKY10R — —
TBE2250SU CS400990T — — TKY15R — —
TBE2300SU CS501290T — — TKY25R — —
TBE1200SL CS400990T TS3 - TKY15R TKYO8F —
TBE1250SL CS400990T TS3 — TKY15R TKYO8F —
TBE1300SL CS501290T TS4 — TKY25R — TKY15R
TBE2200SL CS350790T CS350790T - TKY10R — TKY10R
TBE2250SL CS400990T CS400990T — TKY15R — TKY15R
TBE2300SL CS501290T CS400990T — TKY25R — TKY15R

Q039



Q040

¥ R F

EFmEHFN R (RS T])

TRM2EI 37 8 7]
D &
S %
EERNS & T R
FEIB4T
7. 57 SN M7l 57 ShAT
TRM2200SM CS300790TS - TKY10R -
TRM2250SM CS400990T — TKY15R —
TRM2300SM CS501290T - TKY25R -
TRM2200SL CS300790TS TS3 TKY10R TKYO8F
TRM2250SL CS400990T TS3 TKY15R TKYO8F SRM2 (©M236)
TRM2300SL CS501290T TS4 TKY25R TKY15R
TRM2200SF CS300790TS TS3 TKY10R TKYOSF
TRM2250SF CS400990T TS3 TKY15R TKYO8F
TRM2300SF CS501290T TS4 TKY25R TKY15R
TRM4E! STk 7]
(2 ya T%
EFRUS & RRIATF R
FEIB4T e

TRM4400SL CS451190T TKY20R
TRM4500SL CS501290T TKY25T SRM2-40/50
TRM4400SF CS451190T TKY20R (©M244)
TRM4500SF CS501290T TKY25T




S mE N R (5Sk)

TASSE BRI B E=TASSH

& _ 5
EEREE & R EERES & R
E 5T E R 5T E
TASS1600S32 TS202 TKYO6F TASS1600C20 TS202 TKYO0BF
TASS1700832 TS202 TKYO6F TASS1650C20 78202 TKY06F
TASS1800S32 TS202 TKY06F TASS1700C20 78202 TKYO6F
TASS1900S32 TS202 TKY06F TASS1750C20 78202 TKY06F
TASS2000S32 TS25 TKY08F TASS1800C20 78202 TKYO6F
TASS2100S32 TS25 TKY08F TASS1850C20 78202 TKY06F
TASS2200S32 TS25 TKYOSF TASS1900C20 7S202 TKYOBF
TASS2300S32 T7S25 TKYO8F TASS1950C20 78202 TKY06F
TASS2400S32 TS25 TKYO8F TASS2000C20 7825 TKYOSF
TASS2500S32 TS32 TKY08F ) TASS2100C25 7825 TKY08F
TASS2600S32 TS32 TKY08F (TSEE% TASS2200C25 TS25 TKYO8F
TASS2700S32 TS32 TKY08F TASS2300C25 7825 TKY08F
TASS2800S32 TS32 TKYOSF TASS2400C25 7825 TKYO8F
TASS2900S32 TS32 TKYO8F TASS2500C25 7832 TKYO8F
TASS3000S32 TS43 TKY15F TASS2600C25 7832 TKYOSF
TASS3100S32 TS43 TKY15F TASS2700C25 7832 TKY08F
TASS3200S32 TS43 TKY15F TASS2800C25 7832 TKYOSF
TASS3300840 TS43 TKY15F TASS2900C25 7832 TKY08F
TASS3400S40 TS43 TKY15F TASS3000C25 TS43 TKY15F ~
TASS3500840 TS43 TKY15F TASS3100C32 TS43 TKY15F (ngiiﬁ%
TASS3600S40 TS43 TKY15F TASS3200C32 TS43 TKY15F
TASS3300C32 TS43 TKY15F
TASS3400C32 TS43 TKY15F
TASS3500C32 7843 TKY15F
TASS3600C32 TS43 TKY15F
TASS3700C32 TS43 TKY15F
TASS3800C32 TS43 TKY15F
TASS3900C32 TS43 TKY15F
TASS4000C32 TS5 TKY25F
TASS4100C32 TS5 TKY25F
TASS4200C40 TS5 TKY25F
TASS4300C40 TS5 TKY25F
TASS4400C40 TS5 TKY25F
TASS4500C40 TS5 TKY25F
TASS4600C40 TS5 TKY25F
TASS4700C40 TS5 TKY25F
TASS4800C40 TS5 TKY25F
TASS4900C40 TS5 TKY25F
TASS5000C40 7832 TKYOSF _

Q041



X+ o 4

S mE N R (5Sk)

TAGS TAGM

& _ 5
EEREE & R EERES & R
FIRIBST HF FIRIBST HF
TAGS1600F25 TS2 TKYO06F TAGM1600F25 TS2 TKYO06F
TAGS1700F25 TS2 TKYO6F TAGM1700F25 TS2 TKY06F
TAGS1800F25 TS2 TKYO06F TAGM1800F25 TS2 TKYO06F
TAGS1900F25 TS2 TKYO6F TAGM1900F25 TS2 TKYO6F
TAGS2000F25 TS25 TKYO8F TAGM2000F25 TS25 TKYO8F
TAGS2100F25 TS25 TKY08F TAGM2100F25 TS25 TKYO8F
TAGS2200F25 TS25 TKYO8F TAGM2200F25 TS25 TKYO8F
TAGS2300F25 TS25 TKYO8F TAGM2300F25 TS25 TKY08F
TAGS2400F25 TS25 TKYO8F TAGM2400F25 TS25 TKYO8F
TAGS2500F32 TS3 TKYO8F TAGM2500F32 TS3 TKYO8F
TAGS2600F32 TS3 TKYO8F TAGM2600F32 TS3 TKYO8F
TAGS2700F32 TS3 TKY08F TAGM2700F32 TS3 TKYO8F
TAGS2800F32 TS3 TKYO8F TAGM2800F32 TS3 TKYO8F
TAGS2900F 32 TS3 TKYO8F TAGM2900F32 TS3 TKYO8F
TAGS3000F40 TS4 TKY15F TAGM3000F40 TS4 TKY15F
TAGS3100F40 TS4 TKY15F TAGM3100F40 TS4 TKY15F
TAGS3200F40 TS4 TKY15F TAGM3200F40 TS4 TKY15F
TAGS3300F40 TS4 TKY15F TAGM3300F40 TS4 TKY15F
TAGS3400F40 TS4 TKY15F TAGM3400F40 TS4 TKY15F
TAGS3500F40 TS4 TKY15F TAGM3500F40 TS4 TKY15F
TAGS3600F40 TS4 TKY15F TAGM3600F40 TS4 TKY15F
TAGS3700F40 TS4 TKY15F TAF4ESL TAGM3700F40 TS4 TKY15F TAF45 sk
TAGS3800F40 TS4 TKY15F (@P241) TAGM3800F40 TS4 TKY15F (©P241)
TAGS3900F40 TS4 TKY15F TAGM3900F40 TS4 TKY15F
TAGS4000F40 TS5 TKY25F TAGM4000F40 TS5 TKY25F
TAGS4100F40 TS5 TKY25F TAGM4100F40 TS5 TKY25F
TAGS4200F40 TS5 TKY25F TAGM4200F40 TS5 TKY25F
TAGS4300F40 TS5 TKY25F TAGM4300F40 TS5 TKY25F
TAGS4400F40 TS5 TKY25F TAGM4400F40 TS5 TKY25F
TAGS4500F40 TS5 TKY25F TAGM4500F40 TS5 TKY25F
TAGS4600F40 TS5 TKY25F TAGM4600F40 TS5 TKY25F
TAGS4700F40 TS5 TKY25F TAGM4700F40 TS5 TKY25F
TAGS4800F40 TS5 TKY25F TAGM4800F40 TS5 TKY25F
TAGS4900F40 TS5 TKY25F TAGM4900F40 TS5 TKY25F
TAGS5000F40 TS3 TKYO8F TAGM5000F40 TS3 TKYO8F
TAGS5100F40 TS3 TKYO8F TAGM5100F40 TS3 TKY08F
TAGS5200F40 TS3 TKYO8F TAGM5200F40 TS3 TKYO8F
TAGS5300F40 TS3 TKYO8F TAGM5300F40 TS3 TKYO8F
_ TAGS5400F40 TS3 TKYO8F TAGM5400F40 TS3 TKYO8F
TAGS5500F40 TS4 TKY15F TAGM5500F40 TS4 TKY15F
TAGS5600F40 TS4 TKY15F TAGM5600F40 TS4 TKY15F
TAGS5700F40 TS4 TKY15F TAGM5700F40 TS4 TKY15F
TAGS5800F40 TS4 TKY15F TAGM5800F40 TS4 TKY15F
TAGS5900F40 TS4 TKY15F TAGM5900F40 TS4 TKY15F

Q042



TA$hsk (TABH!) TAFTR S ghsk (NPXE)

ErRuE @\\\‘% @ / SYRERAT ErRuE §§ STREAT
wEEE | BE | BT EEEET WE
TAB1700S32 | TS3 | PT1/4 | TKY08D NPXM2000S25 TS3 TKY08F
TAB1800S32 | TS3 | PT1/4 | TKY08D NPXM2100S25 T3 TKY08F
TAB1900S32 | TS3 | PT1/4 | TKY08D NPXM2200S25 T3 TKY08F
TAB2000S32 | TS32 | PT1/4 | TKY08D NPXM2300S25 T35 TKY10F
TAB2100S32 | TS32 | PT1/4 | TKY08D NPXM2400S32 T35 TKY10F )
TAB2200S32 | TS32 | PT1/4 | TKY08D NPXM2500S32 TS35 TKY10F T(g"F‘,’ffg)k
TAB2300S32 | TS32 | PT1/4 | TKY08D NPXM2600S32 7835 TKY10F
TAB2400S32 | TS32 | PT1/4 | TKY08D NPXM2700S32 TS4 TKY15F
TAB2500S32 | TS32 | PT1/4 | TKY08D NPXM2800S32 TS4 TKY15F
TAB2600S32 | TS4 | PT1/4 | TKY15D NPXM2900S32 TS4 TKY15F
TAB2700S32 | TS4 | PT1/4 | TKY15D NPXM3000S32 TS4 TKY15F

TAB2800S32 TS4 PT1/4 | TKY15D
TAB2900S32 TS4 PT1/4 | TKY15D
TAB3000S32 TS4 PT1/4 | TKY15D
TAB3100S32 TS4 PT1/4 | TKY15D
TAB3200S32 TS4 PT1/4 | TKY15D
TAB3300S40 TS5 PT1/4 | TKY25D
TAB3400S40 TS5 PT1/4 | TKY25D
TAB3500S40 TS5 PT1/4 | TKY25D
TAB3600S40 TS5 PT1/4 | TKY25D
TAB3700S40 TS5 PT1/4 | TKY25D
TAB3800S40 TS5 PT1/4 | TKY25D
TAB3900S40 TS5 PT1/4 | TKY25D
TAB4000S40 TS5 PT1/4 | TKY25D
TAB4100S40 TS5 PT1/4 | TKY25D
TAB4200S40 TS5 PT1/4 | TKY25D
TAB4300S40 TS5 PT1/4 | TKY25D
TAB4400S40 TS5 PT1/4 | TKY25D
TAB4500S40 TS5 PT1/4 | TKY25D

TAF$:K
(©P241)

Q043



¥ R F

S mE N R (5Sk)

WSTARAJ§E{ir §hL (TAWEY)

()
Eraue S % % j R
XEBST =¥ Al Bl
TAWSNH1400S16 WS254012T TKY08W WPT4405 MK1KS
TAWMNH1400S16 WS254012T TKY08W WPT4405 MK1KS
TAWLNH1400S16 WS254012T TKY08W WPT4405 MK1KS
TAWSNH1500520 WS254013T TKY08W WPT4405 MKTKS
TAWMNH1500S20 WS254013T TKY08W WPT4405 MK1KS
TAWLNH1500S20 WS254013T TKY08W WPT4405 MK1KS
TAWSN1600S20 WS254014T TKY08W WPT4405 MK1KS
TAWMN1600520 WS254014T TKY08W WPT4405 MK1KS STAW(OP210)
TAWLN1600S20 WS254014T TKY08W WPT4405 MK1KS
TAWSN1700S20 WS254015T TKY08W WPT4405 MKTKS
TAWMN1700S20 WS254015T TKY08W WPT4405 MK1KS
TAWLN1700520 WS254015T TKY08W WPT4405 MK1KS
TAWSN1800S20 WS254016T TKY08W WPT4405 MK1KS
TAWMN 1800520 WS254016T TKY08W WPT4405 MK1KS
TAWLN1800S20 WS254016T TKY08W WPT4405 MK1KS

Q044





